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Question Number : 1 Question Id : 97675530437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After arranging the given words according to dictionary order, which word will come at ‘third’ position?

1. ORANGE
2. OXYGEN
3. OUTLET
4. OUTFIT
5. OUTING

Options :

1. ¥ OUTING
2. % OUTLET
3. * OXYGEN



4. * ORANGE

Question Number : 1 Question Id : 97675530437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77U ec] B TGH Y & SR HARYT HRA & TYT, DI AT Teg AR RIM TR T2

1. ORANGE
2. OXYGEN
3. OUTLET
4. OUTFIT
5. OUTING

Options :

1. ¥ OUTING

2. % OUTLET

3. ®* O XYGEN
4. % ORANGE

Question Number : 2 Question Id : 97675530438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

HM, FF, DY, BR, ?
Options :
1. ¥ ZK
2. % WL
3. % XM
4. % YN

Question Number : 2 Question Id : 97675530438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH 3IhH a1 a1 8, fo s ¥ U Ug @ ¢ | AU 77T fawed! & 3 98 el fddwed 9T, STt Sigshd &1 I |

HM, FF, DY, BR, ?
Options :
1. ¥ ZK
2. % WL
3. % XM
4. % YN

Question Number : 3 Question Id : 97675530439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

HNSW, JPUY, LRWA, NTYC, ?
Options :

1. ¥ PVAE

2. % QWBG

3. ¥ RXCH

4. % SYDI

Question Number : 3 Question Id : 97675530439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3ehH fea T 3, ford ¥ U UG qu 5| fau U faseul & © 95 We! f[ddhed g, il 3 d &l g1 &

HNSW, JPUY, LRWA, NTYC, ?
Options :

1. ¥ PVAE

2. % QWBG

3. % RXCH

4, % SYDI



Question Number : 4 Question Id : 97675530440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TSQN, XXWU, BCCB, FHII, ?
Options :

1. ® INMS

2. % JMOP

3. % KOQT

4. % LPRV

Question Number : 4 Question Id : 97675530440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R @ U Ue g v Fu T fiehed A & o8 U8 Rehed 9, S g B R |

TSQN, XXWU, BCCB, FHII, ?
Options :

1. ® INMS

2. % JMOP

3. # KOQT

4. # LPRV

Question Number : 5 Question Id : 97675530441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

FR:IU::GH:?
Options :

1. * KL

2. ¥ JK



3.5 1)
4. % LM

Question Number : 5 Question Id : 97675530441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gl

FR:IU::GH:?
Options :

1. % KL

2. % JK

3.% 1)

4. % LM

Question Number : 6 Question Id : 97675530442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word pair from the given alternatives.

Table : Furniture :: ?
Options :

1. * Red: Dark

2. * Stationery : Pen
3. % Table : Chair

4. ¥ Sparrow : Bird

Question Number : 6 Question Id : 97675530442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiaa oy & fou 1o fawedl & § Haifta wrsg g &1 g
AN : AR =2 2



Options :

1. % Q1 ; HERT

2. % G Y HoH
3.wﬁﬁzﬁ
4.%/1%1'%?1111&‘?[

Question Number : 7 Question Id : 97675530443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

PRK : OVT :: ?
Options :

1. ¥ RMG : KPV
2. ¥ FAK : OEJ
3. % ACL : PGD
4. % DMP : TIH

Question Number : 7 Question Id : 97675530443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy & i 77T fowedl § 9 e sfeR g &l gHu|

PRK : OVT :: ?
Options :

1. % RMG : KPV
2. % FAK : OEJ
3. % ACL: PGD
4. % DMP : TIH

Question Number : 8 Question Id : 97675530444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

FROG : IWVP :: ?
Options :

1. # MINT : POUC
2. % LOMG : OTTQ
3. % HORN : KTYW
4. ¥ DIMP : GNTX

Question Number : 8 Question Id : 97675530444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaRad vy @ fau e faswedl B 9 Hefdd 3ieR g &1 gHu|

FROG : IWVP :: ?
Options :

1. ¥ MINT : POUC
2. % LOMG : OTTQ
3. ¥ HORN : KTYW
4. % DIMP : GNTX

Question Number : 9 Question Id : 97675530445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RANGER’ is written as ‘BSHOSF’. What is the code for ‘CREATE’ in that code language?
Options :

1. % SDFBFU

2. % SDBFFU

3. ¥ SDFZUF

4. % SDZFUF



Question Number : 9 Question Id : 97675530445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy ®Ig UMW H, ‘RANGER’ &1 ‘BSHOSF’ foRal SITdT € 1 39 &1 HTWT H ‘CREATE’ &1 61 T 82
Options :

1. ¥ SDFBFU

2. ¥ SDBFFU

3. % SDFZUF

4. ¥ SDZFUF

Question Number : 10 Question Id : 97675530446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘COMPUTER’ is written as ‘ERQUAAMA’. What is the code for ‘RAINDEER’ in that code language?
Options :

1. # SDLSILMA

2. % TCMSILNA

3. ¥ TDMSJLMA

4. % SCLRIKNA

Question Number : 10 Question Id : 97675530446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRy &rs HIWT & «COMPUTER’ &Y ‘ERQUAAMA’ forRdT STl 8 1 59 IS HTHT H ‘RAINDEER’® &1 HIS T 872
Options :

1. % SDLSILMA

2. % TCMSILNA

3. ¢ TDMSJILMA

4. % SCLRIKNA

Question Number : 11 Question Id : 97675530447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘you are not good’ is written as ‘ke pe se de’, ‘he is very good’ is written as ‘de te re ge’, ‘you he too good’ is written
as ‘de te ke ne’, ‘too is not good’ is written as ‘pe re de ne’. What is the code for ‘he is not very good’ in that code language?

Options :

1. # te ke je qe de
2. % tereje qe de
3. % te pere ge de

4. % tenere se de

Question Number : 11 Question Id : 97675530447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fafRiy @ ywr A, ‘you are not good’ Pl ‘ke pe se de’ fora ST %, ‘he is very good’ Pl “de te re qe’ fora ST %, ‘you he too good’ Cal
‘de te ke ne’, ‘too is not good’ P ‘pe re de ne’ foran smar %I Y IS UM H “he is not very good’ oI Ple I %‘?

Options :

1. # te ke je ge de

2. # tereje qede

3. % te pere qe de

4. % tenere se de

Question Number : 12 Question Id : 97675530448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘RIGHT — COOL’ is written as ‘17°, ‘PRAY — TEN’ is written as ‘21°. What is the code for ‘GRAIN — HAT” in that
code language?

Options :
1. % 24
2. % 26
3.%20
4, % 22

Question Number : 12 Question Id : 97675530448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U fARY I UIWT H, ‘RIGHT — COOL’ & <17 foRaT ST 8, ‘PRAY — TEN® Y <21° foRaT ST 8 1 39 IS HIST H ‘GRAIN — HAT® &1
DS FAT?

Options :

1. % 24

2. % 26

3.4 20

4. % 22

Question Number : 13 Question Id : 97675530449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘BC’ is written as ‘49’, ‘HOW’ is written as ‘35’. What is the code for ‘BAT’ in that code language?
Options :

1. ¥ 58

2.% 53

3. % 65

4. % 61

Question Number : 13 Question Id : 97675530449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafRIy B WINT H, ‘BC’ B *49° foRaT ST 8, ‘HOW” B <35 ora STl § 1 39 IS HIW H “BAT’ &1 HIS T 57
Options :

1. ¥ 58

2. % 53

3. % 65

4. % o6l

Question Number : 14 Question Id : 97675530450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Marks of five boys A, B, C, D and E are compared. No two boys got same marks. Marks of B are less than only one boy. Marks of D are less
than B but more than A and C both. If marks of C are not less than A, then marks of how many boys are more than C?

Options :
1. % 4
2.% 2
3.3
4. % 1

Question Number : 14 Question Id : 97675530450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ofd @8I A, B, C, D JUTE & 3! &1 a1 &1 T 8| BIs 1t G A8h| & 3 THH T8l 8| B P 3 Hhad U dsh Y HH | D & 3H B
A HH ¢ AT A TUTC SHT A 31 &1 TS ¢ & 3ich A T HH eI 8, dl fbdn e & 3ib C I 31 B2

Options :

1. % 4

2. %2

3.3

4. % 1

Question Number : 15 Question Id : 97675530451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is the father of J. P is the mother of K and S both. F is the son of K and R.
If S is the sister of J and K, then which the following statement is correct?

I. J can be the son of P
II. F is the grandson of A

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II



Question Number : 15 Question Id : 97675530451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A JHIUAIGI P, KIS I B AT 8| F, K IR BT YA G
e s, I TUTK P 96 8, A FEfied § 3 o9 T HyT T 82

LJ,P BT YA 8l Gbdl &
ILE, ABIUIg
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 16 Question Id : 97675530452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of 6 members is to be formed from 6 girls : G1, G2, G3, G4, G5 and G6 and 6 boys : B1, B2, B3, B4, B5 and B6. If B2 and G4 both are
selected, then G5 must be selected. Bl and G6 should not be in the same team. B3 and B5 should be in the same team. B1 and G2 should be in
the same team.

Which of the following can represent the members of the team?

I. B2 B1 G4 G5 G2 B6
II. G6 G2 G3 B1 B5S B3
II1. B4 G5 G4 G2 B1 B2

Options :

1. # Il and III
2. % Tand III

3. % I, 1l and III
4. % Only II

Question Number : 16 Question Id : 97675530452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

6 @sfdl : G1, G2, G3, G4, G5 TUT G6 Td 6 TSI : B1, B2, B3, B4, B5 AUT B6 H ¥ 6 Y& Bt Tes AT §-1RI ST 21 afe B2 9YUT G4 S

?ﬂg;g?%%,a‘ms D1 1 81 SIHT ART | B1 TUT G6 THM <Y § g1 81 d1igU | B3 YT B5 M <19 H g1 d1fgT| B1 TUT G2 I
|

frofefad o @ oF w1 dm & Tew! B e HR 9adr 82

I. B2 B1 G4 G5 G2 B6
II. G6 G2 G3 B1 B5 B3
I11. B4 G5 G4 G2 B1 B2

Options :
1. ® I dYUTIII
2. % T dYTIII

3.% [ 1 dYTIII
4. % Had I

Question Number : 17 Question Id : 97675530453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five students P, Q, R, S and T likes one colour among Red, Yellow, White, Black and Blue (not necessarily in the same order). They also like one
shirt among S1, S2, S3, S4 and S5 (not necessarily in the same order). No two students like same colour and same shirt. One who likes yellow
colour, doesn’t likes S3. R does not like green colour. P and T likes either S3 or S4. One who likes S1, also likes white colour. T likes black
colour. Q does not like S2 or S5.

If S likes green colour, then which of the following combination of colour — student — shirt can be correct?

I. Blue — P -S4

II. Black — T — S3
III. Green — R — S5
IV. Yellow — R — S2

Options :

1. % 1, 1T and III
2. % 1L, III and IV
3. ¥ [, Il and IV
4. % 1,1l and IV



Question Number : 17 Question Id : 97675530453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui BT P, Q, R, S OUT T &) aTdl, Ui, Tibe, Srat aul 1ot § ¥ Teb T U¥iq § (S84 181 § 38 61 #) 1 38 S1, S2, S3, S4 qUT S5 H A T
B Hl URiE B (Ss) T8 & 38 A ) | IS Y <) ST &) JHE T 9UT GHH HHIS THe Tl 31 98 fO tia 31 u¥ie ®, Y S3 U¥iE el
%|Rﬁggmqﬁ%lPaznTﬁma‘rsstwﬂE%la's’%@rm UG 8, B e T H TGS 81 T B ST FT U 81 Q BT S2 AT
S5 Uda I

gfe s B ST TT TS &, A T - BH - FHHI T Fgfafed 7 F S 1 T I8 81 Il 82

I HdT-P-s4

IL. BT - T - S3

IIL8I-R-S5

AV [ | )

Options :

1. % [ 19Tl

2. % IL I AT IV

3¢ LTIV

4. % LTIV

Question Number : 18 Question Id : 97675530454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 articles A, B, C, D, E, F, G and H are kept one above the other (not necessarily in the same order). Number of articles kept above H are same as
the number of articles kept below D. G is kept just above F and just below H. Only C and E are kept between F and D.
If B is 5 places above E, then which of the following statement is not correct?

Options :

1. # One article is kept between E and A

2. % G and C are among those articles which are kept between B and F
3. % 5 articles are kept between D and B

4. % E is kept just above D

Question Number : 18 Question Id : 97675530454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

8 T3 A, B, C, D, E, F, G 04T H B U o 3R Ueb IW 7T g (STX] el & S hH W) | H & SHUR IW! TIT G 3ff B! W&, D & A Il
Tf a3l BT BT S YA B 1 G BT F H 31 SHUR dUT H & 31 -i1d @1 T & | Had C TUTE I F U1 D & §1d H 3@ T & |
afe B, Eq 5 WM SWR g, O Fgfeiad & § & a1 ou= gt T8t 82

Options :

1. % EdUT A & A U I W T §

2. G YT C 3 axg3f & § € Sifch B TUTF & H IQ T g
3. % DAYTB & T 5 gy W T §

4. % E,DP 3D SW W T g

Question Number : 19 Question Id : 97675530455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All X are Y.
II. Al Y are C.

Conclusions:
I. Some C are X.
II. No C is X.

Options :

1. ¥ Only conclusion I follows
2. % Only conclusion II follows
3. # All conclusion follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 97675530455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 feU T Uy ¥ 58 U SR 3D 918 31 Bl R SMUTRT & (bt U MU g1 3T T Syl &1 98! 4, 91e 394 AH 1 a2t




3 e 811wt frsed ue iR fmR Ruffed &% for o o o1 @ feehd, 3T 7T et & SR R gfaaiTa € |

DHY-:
L9 X, Y I
.39y, c gl

fsp: .
LPBC, XTI
1L s ¢, X T I

Options :

1. ¥ Had FHY | 3FIER0T el §

2. % I DY [1 TRV BT §

3. % Tuft sy SRR R §

4. % I3 U FIsHY IR0 T8I HraT §

Question Number : 20 Question Id : 97675530456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. No bat is ball.
II. All wicket are bat.

Conclusions:

I. Some ball are not wicket.
II. Some ball are bat.

III. No ball is bat.

Options :

1. ¥ Both conclusion II and III follows
2. % Both conclusion I and III follows
3. # Only conclusion II follows

4. % Only conclusion III follows



Question Number : 20 Question Id : 97675530456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 foU T Uy T 58 U 3R 39D 918 31 Bl R SR & (bt U MU g1 3T Tyl &1 9! 4M, 31e 374 AH 1 a2t
3 forzrar 81t e o oik fsR fReifa & 6 fou o o1 3 s, fou U syl & sMuR &R gfaasa g

HY:

1. ®Ts off g Tig 781 5

1. gff fddhe S 5|

fep:

1. $S Tic fade Tl 5|

1. O Tig Seal g |

111, B8 ¥t Tig goar T8l B

Options :

1. % I fISh 11 T 111 3FIERUT 63l &
2. ¢ Gl FSHY [ AT 111 SJR0T Rl §
3. % Hhad FpY 11 IR0 FRl §

4. % Had (B [11 TR0 BT &

General Ability2

Group Number : 2

Group Id : 976755883
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Ability2

Section Id : 9767551313
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551532
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675530457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some B are K.
II. Some A are D.
III. Some K are A.

Conclusions:

I. Some D are not B.
II. Some A are K.
III. Some D are K.

Options :

1. # Both conclusion I and II follows
2. % Only conclusion III follows

3. # Both conclusion II and III follows

4. % Only conclusion II follows



Question Number : 21 Question Id : 97675530457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR YN & 56y 3T T4 § | 3T T 2= & 981 A, 918 S8 Qg 1 9
Y frzrar 81t e o ofk fmR fReifa &% i fou o o @ s, fou e wyi & smuR &R gfaasa g

DHY-:

L. $JB,KE
I.$S A, DRI
ML.$SK, ARl
fsep:

L. $S D, BRI &gl
IL. S A, K3l
L. $S D, K g
Options :

1. % Q! F5BY 1 YT 1T SRRV $HRd &
2. % Had (5HY [11 3IERU HT §

3. % QI F5BY 11 TUT 111 3R Hd §
4. ¥ Had (BN [1 IR0 Il §

Question Number : 22 Question Id : 97675530458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

. NoJisT.

II. NoTisP.
1. All Q are J.

Conclusions:



[.LNoQisT.
II. NoPis Q.
III. No J is P.

Options :

1. # Both conclusion II and III follows
2. % Both conclusion I and II follows
3. % Only conclusion II follows

4. % Only conclusion I follows

Question Number : 22 Question Id : 97675530458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fau T Uy H 8 U 3R IF 918 31 HUHI IR YR & 56y 3T T4 § 1 3T T H2= &1 981 AM, 918 S8 Qg J1d 9
Y frzrar 81t e o ofk fisR fReifa &% i fou o o1 @ s, fou U sy & sMuR &R gfaaa g

DHY-:

L &5 Wy, TR I
1.5 Wi T, pAEl B
L g Q, 1 81

frsp:

L&t Q TSR

1L i p,Q TET R

1L &5 Wt 1, P A8 B

Options :

1. % I fISh 11 T 111 3FIERUT 63l &
2. % G FSHY [ TT 11 3FJAR0T Rl &
3. % Hhad ApY I IR0 &Rl §
4.« Had [T5HY [ 3FIERV Hal §

Question Number : 23 Question Id : 97675530459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All S are F.
II. No K is G.
III. All F are K.

Conclusions:

I. Some G are not S.
II. Some F are not K.
III. Some K are not G.

Options :

1. # Both conclusion II and III follows
2. ¥ Both conclusion I and III follows
3. # Both conclusion I and II follows

4. % All conclusion follows

Question Number : 23 Question Id : 97675530459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy ¥ 58 U 3R 39D 918 31 Bl R SMUTRT & (shs U T | 3T T Hy=1 &I 91 A, e 374 AE 1 a2t
3 e 811 ot fsmel U oiR iR Feifvd &% fos faw o o 4 fred, 3 70 2 & SR R gfaasd 5|

DHY-:
L 9s, FEI
1. ®% N K, 6T 2

1L I E K B

fep:
L$SG,S TR gl
II. $3 F, K 7o g
. $S K, G T8I g
Options :

1. # G fepe 11 qT 111 SFER0 Rd §




2. ¢ Gl FSHY [ AT 111 SR0T Rl &
3. % G (FShY [ T 11 SFJIR0T 6’ &
4. % Jft fFrepef S RO vl §

Question Number : 24 Question Id : 97675530460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four number pairs are given. The number on left side of (—) is related to the number of the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % 2946
2. % 37-54
3. % 46 - 63
4. ¥ 58 -77

Question Number : 24 Question Id : 97675530460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Ry ¥ IR e gm R I () P IRt 3R ) 1 = () & et 3R < 1S e @ fpdt adh Mo ey @ e g1 dF
I T doh/FoH/Aey & YR IR A g | foU 78 fawed! & 4 faww &1 gfu|

Options :

1. % 2946

2. % 37-54

3. % 46-63

4.9 58 -177

Question Number : 25 Question Id : 97675530461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

844, 847, 855, 879, 929, 1047



Options :
1. % 847
2. % 855
3. % 879
4.+ 929

Question Number : 25 Question Id : 97675530461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T 8, Ford ¥ U ug 7ad ¢ | faU 7Y fawed! o 9 39 7Tad g & gHu|

844, 847, 855, 879, 929, 1047
Options :
1. % 847
2. % 855
3. % 879
4.+ 929

Question Number : 26 Question Id : 97675530462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By interchanging the given two signs which of the following equation will be incorrect?

+and —

Options :

1. % 28+7x2+4-3=7
2.% 12+2x3+10-1=9
3. 98+24x6+13-11=4
4. 8 4+5-2x12+3=17

Question Number : 26 Question Id : 97675530462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feu e 3 gl 1 3o §f IRER sga R Hufeiad 7 9 o 1 e 9gt 78t g

+dYT -

Options :

1. % 28+7x2+4-3=7
2.% 12+2x34+10-1=9
3.98+-24x6+13-11=4
4, % 4+5-2x%x12+3=7

Question Number : 27 Question Id : 97675530463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If14 *95% 12=97 and 26 * 62 % 24 = 64, then 21 * 43 % 68 = ?
Options :

1.¥ 4

2. %13

3. % 8

4. % 7

Question Number : 27 Question Id : 97675530463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GG 14 % 95 % 12 =97 AUT 26 * 62 % 24 = 64 BI, AN 21 * 43 % 68 =2
Options :

1.¥ 4

2. % 13

3.% 8

4., % 7

Question Number : 28 Question Id : 97675530464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the diagram that best represents the relationship among the given classes.

Car, Truck, Cycle
Options :

2
0o

O

1. %

o

2.¥

3. %

Question Number : 28 Question Id : 97675530464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3G AU ot -7 U U 9 & o & Ty o1 Tt ey w1 g |



DR, T, Asfhd

Options :

OO

KeX
©9)
@

3. %

Question Number : 29 Question Id : 97675530465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many yellow are only white?



White

¥4
4 / 3 16
16| 3 \9 i
[ |12 N
Red
Yellow
Options :
1. % 17
2. % 24
3.%9
4.8

Question Number : 29 Question Id : 97675530465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Uicl o Tha &7

16

5 15

Options :



1. #® 17
2. % 24
3.%9
4.9 8

Question Number : 30 Question Id : 97675530466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. Number of bat which are ball are 6.
II. Total number of bat are 47.

Wicket

N,/
16 8 / 14 6\

/ i 14\
Ball X

Options :

1. * Only I

2.9 Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 30 Question Id : 97675530466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a0 T 39 3T & MYR W, FufiRad # ¥ &9 91 oY= T8t 82



1. 98 9 Sl G §, 1 U= 6 3

1. 931 & Hol U= 47 5

fa=z

N o /3
o (s /ua]e\

T /o
s \

afeed]

Options :

1. % FHadl
2. ¥ Had Il
3. % [T I gl
4. % qGIIATRIII

Question Number : 31 Question Id : 97675530467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is incorrect?

I. Number of girls which are neither boys nor students are 8.
II. Number of boys which are only students are 12.



Students

Boys
33

1 17 [~
16 12/ %

Girls

Options :

1. % Only I

2. % Only II

3. #% Both I and II
4. ¥ Neither I nor II

Question Number : 31 Question Id : 97675530467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fad 7T 37 3R F MYR R, Fufafea 8§ @ o 1 oy 98 781 82
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1. 98 ISP ol Had B &, I TJT 12 B




33

17 [8~

Aefwa

Options :

1. % Had 1
2. % Had Il
3. % [ QYT gHl
4. TBIAIBII

Question Number : 32 Question Id : 97675530468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is incorrect?

I. Number of pencil which are atleast pen are 16.
II. Number of sharpener which are pen and pencil both are 12.



Pencil

Pen
12 9
11
4
15 16
™~
Sharpener
Options :
1. % Only I
2. % Only II

3. ®* BothIand II
4. % Neither [ nor 11

Question Number : 32 Question Id : 97675530468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. ¢ Had I
3. % [ UGl
4. % AT I

Question Number : 33 Question Id : 97675530469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

N

?




Options :

1. ¢ D
2. % D
3. %

<
4. %

Question Number : 33 Question Id : 97675530469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




Question Number : 34 Question Id : 97675530470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the wrong figure from the given series.

A A A A A A
O O O O O O
O O O O O O
Options :
1. % O

u

2. %



3.¢

O

Question Number : 34 Question Id : 97675530470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad uy 9, < Tt e & I 7Ted i @1 gl

A A A A A A

O O O O O O

O O O O O O
Options :

o|g|b>




A
]
2. % O
A
O
3. O
A
O
4. % O

Question Number : 35 Question Id : 97675530471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figures on the right of (::) from the given
alternatives based on the same logic/rule/relation.

@40#5@0# ,? (4] ()
===1 I I==<1 K H I

Options :




D
X
X
D

!

®
@
®

Q
o
do
Do| |&®

”

”
0D
DU D>

N

~

2. ¢

N
o

{MI&

O Xoe

3. %

RX> P
NG
L B>V

©
P
&

N

:

Question Number : 35 Question Id : 97675530471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
() o ST SR < 7t @Y Sirepfera fopat ch frerm ey & Waifere 81 e 7 fashedl 7 W (1) & <l 3R WA dich /sy TR eireka
I Spferdl B1 AT



Options :

o

<anG

<ao¢
D

oo

2.¢

-

3
s



Question Number : 36 Question Id : 97675530472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

VYV _Al|l V ||lA_Y B __A

abgs| (Wl (| 7 || EH

A B B B A A V

Options :




Question Number : 36 Question Id : 97675530472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad gy & fau 7 fasedl & 3 Uy forg (2) & RIM W {1 arel 3MTepfd ®I AT
AV B A

\4
1@;& — ? -

B A AV

V. A

A B

Options :




> < >
<gH<| [<H<| |<gH<
an an an



Question Number : 37 Question Id : 97675530473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :

L N\

1. ¥




s
/]

Question Number : 37 Question Id : 97675530473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 7E IR apfaal § T 39 IR 3Nl & g fora & uy e FAfga B

4

Options :




f/\\
s
L8

Question Number : 38 Question Id : 97675530474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After folding the given paper, which of the following cube can be formed?



Hl@ﬂV@ﬁﬁ



Question Number : 38 Question Id : 97675530474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2
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1
Options :

<

1. ¢



&>

Question Number : 39 Question Id : 97675530475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

- =
N
ATTTTTSRNSY

Options :




2. % L
3. % -

=
4.9

Question Number : 39 Question Id : 97675530475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 40 Question Id : 97675530476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. % 14
2. % 15
3. % 16
4. 17

Question Number : 40 Question Id : 97675530476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7S e 7 fpam By 82



Options :

1. % 14
2. % 15
3.% 16
4. ¥ 17
General Awarenessl1
Group Number : 3
Group Id : 976755884
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awarenessl1
Section Id : 9767551314
Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551533
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675530477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following festival is associated with Madhya Pradesh?
Options :

1. # Bihula

2. % Dree

3. ¥ Pola

4. % Kumi

Question Number : 41 Question Id : 97675530477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o 91 JIgR 7 UeR ¥ Heifdd g2

Options :

Question Number : 42 Question Id : 97675530478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Karma dance belongs to which state?
Options :

1. ¥ Odisha

2. % Kerala

3. ¥ Rajasthan

4, % Mizoram

Question Number : 42 Question Id : 97675530478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH! 7 g e J Yefid 22
Options :

1. ¢ 3

2. % Hd

3. % SR

4. % fIGIRA

Question Number : 43 Question Id : 97675530479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
festival is associated with Uttarakhand.

Options :

1. # Chumpha
2. # Pilak

3. % Kangdali
4. % Bonalu

Question Number : 43 Question Id : 97675530479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR IIRIES J F&fd gl

Options :



1. % gHT
2. % fUdT®
3. ¢ ISl
4. % 9

Question Number : 44 Question Id : 97675530480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of State — Music Instrument is correct?

I. West Bengal — Khol
II. Gujarat — Dogala

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 44 Question Id : 97675530480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oY - aTe I 1 Fgfeiad & 9 &F 91 g 9g! 82

1. Ui3H ST - Wi
I1. TORTd - QAT
Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I I

Question Number : 45 Question Id : 97675530481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Manjira Nritya’ belongs to which state?
Options :

1. ¥ Gujarat

2. % Madhya Pradesh

3. % Kerala

4. % Tamil Nadu

Question Number : 45 Question Id : 97675530481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o1 T ford o § aiferd g2
Options :

1. % T[SRId

2. % QL YSI

3. % B

4. % Qg

Question Number : 46 Question Id : 97675530482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
falls directly on individuals.

I. Direct Tax
II. Indirect Tax

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II



Question Number : 46 Question Id : 97675530482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT HR T ¥U I g R IS 5|

I. UUE& X

I1. {UTE HI
Options :

1. ¥ $Had |

2. % HAd Il

3. % [QUT ISl
4. % 1B 1

Question Number : 47 Question Id : 97675530483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Goods that can be sold profitably either in the domestic or in the foreign markets are produced in

Options :

1. % Socialist Economy
2. % Mixed Economy
3. ¥ Market Economy
4. % Closed Economy

Question Number : 47 Question Id : 97675530483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 98 T4 IdTed DI St 7, o7 o & IR a1 faeh iRl & IRedT § o Sff 9l ¢ |

Options :

1. % gATSare! sifegawr
2. % Tufyg srfogawn
3.« IR SfgaRIT

4. % ga yfgry




Question Number : 48 Question Id : 97675530484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a feature of a perfectly competitive market?

I. Each buyer and seller in the market is a price-taker.
II. Differentiated goods are produced.

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. # Neither I nor II

Question Number : 48 Question Id : 97675530484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefed d @ 1 a1 Suuid ufaeufers SeR &1 U wemrg?
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Options :

1. ¥ Hadl

2. % Had Il

3. % [ UGl
4. % qIGIIATRIII

Question Number : 49 Question Id : 97675530485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct regarding Open Market Operations?

I. It is one of the instruments of monetary policy in India.
I1. It includes both, outright purchase and sale of government securities.



Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 49 Question Id : 97675530485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 50 Question Id : 97675530486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct in respect of the Reserve Bank of India?

L. It is the custodian of the country’s foreign exchange reserves.
II. It was established on April 1, 1935.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 50 Question Id : 97675530486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRa Rerd §o & T # Fafafad 3 @ o 91 $y= 98t 82
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I T8 1 30T, 1935 &1 TSd g |

Options :

1. % $Had 1

2. % HAd Il

3. ¢ 1 AU Gl
4. % 1B 1

Question Number : 51 Question Id : 97675530487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Arteries — Oxygen rich blood from the heart to all parts of the body.
II. Veins — Carbon dioxide rich blood from all parts of the body back to the heart.

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. * Neither I nor II

Question Number : 51 Question Id : 97675530487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qIGIIATRIII

Question Number : 52 Question Id : 97675530488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of mirror—use is correct?

I. Convex — Dentist
II. Concave — Headlights
III. Convex — Side view mirror

Options :

1. % Only III
2. % Il and III
3. % Only I
4. % Only II

Question Number : 52 Question Id : 97675530488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul ST BT gffad § ¥ &1 91 g 98l 82

1. 399 - &d forivg
1. 3{ddd — Uiy
111, 39 — g1 ggur

Options :

1. % dHad I
2. ¢ I TYUTII
3. % $had |
4. % Had II



Question Number : 53 Question Id : 97675530489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true regarding mass and weight of an object?

I. If mass = 10, then weight = 98

II. If weight = 5, then mass = 49

1. Weight of an object is maximum at poles.
I'V. Weight of an object is minimum at equators.

Options :

1. ¥ I, Il and IV
2. % II, T and IV
3. % lll and IV

4. % Only II

Question Number : 53 Question Id : 97675530489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. If¢ GoTHM = 10, Al HR = 98
1. ¢ YR = 5, Il GoTHH = 49
111. fordt g T YR Yl R 31 gran g |
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Options :
1.¥ LUOIdUT IV
2. % 10, [T dUT IV

3. % [ dUTIV
4. % Had 11

Question Number : 54 Question Id : 97675530490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of acid/base — found in, is NOT correct?

I. Ascorbic acid — Ant’s sting II. Magnesium hydroxide — Soap III. Oxalic acid — Spinach IV. Calcium hydroxide — Window cleaner
Options :

1. ¥ [, Il and IV

2. % I, I and III

3. % Il and III

4, % IIl and IV

Question Number : 54 Question Id : 97675530490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T/&iR b — forgw UT SfTdl B, T b1 1 o Tt et 82
L. TpITad 3 — dict BT S 11 TNREH FESiauge — g 111 HTRIfd 3 — UTad 1V, BT S gidugs - Red! W dh

Options :

1L¥ LITdUT IV
2. % LI dYTIII
3. % 11 dUTIII
4, % M dUT IV

Question Number : 55 Question Id : 97675530491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a fibre crop?
I. Jute
II. Cotton

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II



Question Number : 55 Question Id : 97675530491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e @ 3 1o WeR HUd &F 9 g7

I.9E
1L SUY

Options :

1. % Had I
2. % HAd Il
3. QYT ISl
4. % qEIIATE I

Question Number : 56 Question Id : 97675530492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Victoria fall is located on borders of Zimbabwe and

Options :

1. ¥ Zambia

2. ®% South Africa
3. # Ethiopia

4. % Egypt

Question Number : 56 Question Id : 97675530492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faereIan SrayuTd foraTsd qur @ HET R Ry g
Options :

1. ¢ SRy

2. % Sf&ror ifthept

3. % ST




4. % g

Question Number : 57 Question Id : 97675530493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Pacific Ocean is correct?
L. It is the largest Ocean of the world.

II. It is in ‘S’ shape.

Options :

1. % Only I

2. % Only I

3. % BothIand Il

4. ¥ Neither I nor II

Question Number : 57 Question Id : 97675530493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 S TR 78R & J6Y T 981 82
1. I8 f3% &1 9ad 98T HIERIFR 8|

IL T8 ‘S’ & HTHR BT ¢ |

Options :

1. ¥ Hadl
2. % Had Il
3. % [ UGl
4. % qIGIIATRIII

Question Number : 58 Question Id : 97675530494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the first country in the world to develop Hydroelectricity.

Options :
1. ¥ Norway



2. ®* Scotland
3. * France

4. # Japan

Question Number : 58 Question Id : 97675530494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fq%y &1 ugan oI faggd e B ardl o T
Options :

1.¥ A1 d

2. % WS

3. % g

4. % UM

Question Number : 59 Question Id : 97675530495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was usually written on Palm leaf?
I. Inscriptions
II. Manuscripts

Options :

1. % Only I

2.9 Only II

3. % Both IandII
4. ¥ Neither I nor II

Question Number : 59 Question Id : 97675530495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad & 9 18 U3 IR a1 forar SiTdr 412
1. e

1. Tgfeppd



Options :

1. % PHadl

2. ¥ Had Il

3. % [ UGl
4. % qIGIIATRIII

Question Number : 60 Question Id : 97675530496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote his first chronicle in 13567
Options :

1. ¥ Ziyauddin Barni

2. % Abul Fazl

3. % Ibn Faradi

4. % Al-utbi

Question Number : 60 Question Id : 97675530496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1356 H T 3101 yger gaid feram ur
Options :

1. ¢ FSREEH a1

2. % A hudl

3. % 3 TRl

4. % 33l

General Awareness2

Group Number : 4
Group Id : 976755885
Group Maximum Duration : 0



Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 9767551315
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551534
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675530497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who established the Depressed Classes Association?
Options :

1. ® Jyotirao Phule

2. % Dr.B.R.Ambedkar

3. ® Mahatma Gandhi

4. * Jawahar lal Nehru

Question Number : 61 Question Id : 97675530497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ST 1 THIRURE &1 RO fore 1 2
Options :

1. % JIfaR1d Bl

2. ¢ Sl 3R FFSHR

3. % HgTeT el

4. % SdTER A 5w

Question Number : 62 Question Id : 97675530498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During which period the Lodi Dynasty ruled on Delhi?
Options :

1. % 1451-1526

2. % 1526-1530

3. % 1533-1560

4. % 1570-1598

Question Number : 62 Question Id : 97675530498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o THg & SR die 937 A el UR 2 fosam om
Options :

1. % 1451-1526

2. % 1526-1530

3. % 1533-1560

4. % 1570-1598

Question Number : 63 Question Id : 97675530499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement regarding Rigveda is correct?
L. It is the oldest Veda.
II. It includes more than a thousand hymns.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 63 Question Id : 97675530499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied § 9 &9 91 Y= B1ag & Gy & I &2
LU G RAEIAG 51

11 399 §9IR ¥ SuTe Uil § |

Options :

1. % Had I
2. % HAd Il
3. QYT ISl
4. % qEIIATE I

Question Number : 64 Question Id : 97675530500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Global Competitiveness Report 2020, which is the most competitive economy in the world?
Options :

1. ¥ Singapore

2. ® United States of America

3. % Japan

4. ¥ Netherlands

Question Number : 64 Question Id : 97675530500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Wed Brifecia™ RUlE 2020 & AR, AT H qa9 3ifere ufaegeff srferawn w1 1@t g2
Options :

1. ¢ QR

2. % AZCS W 3 3HRST

3. % SO

4. % Hexds

Question Number : 65 Question Id : 97675530501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following award is not associated with any sports in India?
I. Arjuna Award
II. Dronacharya Award

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 65 Question Id : 97675530501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed & 9 ®F 9 REBR HRd § fdt ot 9a O geefid =8t 82

I. 3 [RIHR
H.&gjﬁﬁw

Options :

1. % Had 1
2. % HAdII
3. % [ UGl
4. TRIIATR I




Question Number : 66 Question Id : 97675530502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book ‘Politics of Opportunism’?
Options :

1. # Shashi Tharoor

2. % Kapil Sibal

3. ¥ R P N Singh

4. % Manish Tewari

Question Number : 66 Question Id : 97675530502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QS UTeIfea i1t ffuedfer & o $i 82
Options :

|, % TR YT

2. % Hiud Rega

3. ¢ 3R UL T, Rig

4. % TV faaRt

Question Number : 67 Question Id : 97675530503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Id REPR U B I T HRAT DI 42
Options :

1. ¢ 9. dl. A

2. % gfermieh

3. % Gfgd YIHg= e sneit

4. % 1. 7. 3R. 3@



Question Number : 67 Question Id : 97675530503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first ever Indian to receive Bharat Ratna award?
Options :

1. ¥ C V Raman

2. % Indira Gandhi

3. # Pandit Bhimsen Gururaj Joshi

4. % C.N.R.Rao

Question Number : 68 Question Id : 97675530504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known by the name of ‘Haryana Hurricane’?
Options :

1. # Sushil Kumar

2. ¥ Kapil Dev

3. % Vijender Singh

4. % Pawan Sehrawat

Question Number : 68 Question Id : 97675530504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 fea g gRe & 7 J S S 82

Options :

1. % g HAR
2.« Hfua g

3. % fooig Rig
4. % U9 gg31dd

Question Number : 69 Question Id : 97675530505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who has been appointed as the CarDekho Gaadi brand ambassador in November 20207
Options :

1. # Ranveer Singh

2. # Shahrukh Khan

3. ¥ Akshay Kumar

4. % Salman Khan

Question Number : 69 Question Id : 97675530505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 2020 H HR W/ M & §i1S LGSR & =0 A foby Fgad faran mar g2
Options :

1. % Y0dR Rig

2. % Xg>d W1

3. % &Y PHR

4, % JAHE QG

Question Number : 70 Question Id : 97675530506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
N. V. Ramana has been sworn in as Chief Justice of India.

Options :
1. ¥ 48th
2. ®% 47th
3. ® 49th
4. ¥ 46th

Question Number : 70 Question Id : 97675530506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TA. Y. JHUT A URd & T AT & 0 § 90y & g




Options :
1.v 487
2. % 477
3. % 494
4. % 467

Question Number : 71 Question Id : 97675530507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
India’s first toy city will come up in which state?
Options :

1. ¥ Uttar Pradesh

2. ®# Haryana

3. % Gujarat

4. # Rajasthan

Question Number : 71 Question Id : 97675530507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRd &1 ugell eid R foog g | sl
Options :

1. ¥ IR U

2. % giegrom

3. % TSRId

4, % ISR

Question Number : 72 Question Id : 97675530508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iron Union 13'is a joint military exercise between the ground forces of the UAE and
Options :




1. ® Iran
2. * India
3. % United States of America

4. * France

Question Number : 72 Question Id : 97675530508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR AT 13 Tgad 3R 3HRIT 3R &1 ST TTeft & i U Iged 9 A g |
Options :

1. % S

2. % HRd

3. ¢ o I SRR

4. % 1Y

Question Number : 73 Question Id : 97675530509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with ‘Abolition of Untouchability’?
Options :

1. % 14

2. % 16

3.¥ 17

4. % 19

Question Number : 73 Question Id : 97675530509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T BT DI AT 36 SRYRI] BT 3’ Y Jaferd g2
Options :

1. % 14



2. % 16
3.¢¥ 17
4. % 19

Question Number : 74 Question Id : 97675530510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1951, which constitutional amendment of the Indian constitution took place?
Options :

1. ¥ First

2. # Eighth

3. % Eleventh

4. # Fifteenth

Question Number : 74 Question Id : 97675530510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1951 H, YR AT BT DI AT HauTHD T=MeH g3 U1
Options :

1. ¥ Uy

2. % 3Madl

3. % TRgdl

4. % Gggdl

Question Number : 75 Question Id : 97675530511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Part XV of the Indian constitution deals with
Options :

1. #* Miscellaneous
2. % The Panchayats



3. % Elections

4. ¥ Emergency

Question Number : 75 Question Id : 97675530511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR e BT U 15 RRCIDER
Options :

1. % Tpiol

2. % UIOd

3. ¢ T

4. % 3{TUTd IUSY

Question Number : 76 Question Id : 97675530512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are appointed by the President of India?
I. The Attorney General of India
II. Vice President

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 76 Question Id : 97675530512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed # © fhae! Mgfa YRd & Iyufd &d &

1. YRd 1 HEI™arc]

11 SWRTyufa

Options :




1. ¥ Had 1
2. % Had II
3. % [QYUT I gl
4. % I IAE I

Question Number : 77 Question Id : 97675530513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state legislature has two houses?
I. Bihar
II. Himachal Pradesh

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 77 Question Id : 97675530513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁ%@rﬁ@aﬁ@f%nﬁf%ﬁm SR RE KA RS Ny
L.

11. fgHTae U™

Options :

1. Had 1
2. % HAd I
3. % [QUT ISl
4. % 1B 1

Question Number : 78 Question Id : 97675530514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following pair of sports — sportsperson is correct?
I. Kabaddi — Anup Kumar
II. Football — Bhaichung Bhutia

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 78 Question Id : 97675530514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - Fare) &1 Rl & ¥ 19 91 gm I8t 82
1. B! - 37 PR

1. Ppedid - U9 Yfean

Options :

1. % Had I
2. % HAd Il
3. QYT ISl
4. % qEIIATE I

Question Number : 79 Question Id : 97675530515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries are the co-hosts for 2022 Women’s Hockey World Cup?
I. Spain

II. Netherlands

III. Belgium

Options :

1.¥ Tand II

2. % Il and IIT
3. % Tand III

4, % 1, 1I and III



Question Number : 79 Question Id : 97675530515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁﬁ%ﬁﬁﬁmﬁzozzﬂ%ﬁﬁﬁ%m%%ﬁm%
I.

1. Flexels

111, SfesaH

Options :

1.« 1dYUT Il

2. % I dYTIII
3. % TdYT I
4, % [, I dYT I

Question Number : 80 Question Id : 97675530516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chetan Baboor is associated with which sport?
Options :

1. % Boxing

2. ¥ Table Tennis

3. % Tennis

4, % Golf

Question Number : 80 Question Id : 97675530516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I IR [T W ¥ raifid g2
Options :

1. % Qo

2. ¢ ¢ ¢

3. % ¢



4. % Tich

Arithmetic Abilityl

Group Number : 5

Group Id : 976755886
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 9767551316
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551535
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675530517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the value of (0.88) —(0.8) i
(0.88) +0.704 + (08)"

Options :
1. % 0.8
2.9 0.08
3. % 1.68
4. % 0.704

Question Number : 81 Question Id : 97675530517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(0.88) - (0.8)
(0.88) +0.704 + (0.8’

EARCE Y.

Options :
1. % 0.8
2.9 0.08
3. % 1.68
4. % 0.704

Question Number : 82 Question Id : 97675530518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If -/0.04 x0.16xa =~/0.360.04 x b , then what is the ratio of Va and b?

Options :
1.¥3:2
2.%2:3
3.%$9:4
4. % 4:9



Question Number : 82 Question Id : 97675530518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 0.04x0.16xa =~+/0.36x0.04xb BT VaTUT b T 7aTT FT &2
Options :

1.¥3:2
2.% 2:3
3.%9:4
4, % 4:9

Question Number : 83 Question Id : 97675530519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the product of two numbers is 1215 and their Highest Common Factor is 9, then how many pairs of such numbers are possible?
Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 83 Question Id : 97675530519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 T3 BT [UHTA 1215 § SR SADHT HeaH FHIGAAD 9 &, Al U TSAT3N & fha- g Jua g2
Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 84 Question Id : 97675530520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement(s) is/are correct?

I. Least Common Multiple of (2/3). (4/9) and (5/6) is (20/3).

IT. VE—FVE>«.E+«JE

Options :

1. % Only I

2. % Only II

3. % Both IandII
4. ¥ Neither I nor II

Question Number : 84 Question Id : 97675530520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=g § ¥ Fi9 9d Faa F@ar ¢

L. (2/3), (4/9) TAT (5/6)FT TTEcdd TATISA (20/3) 8
I /6 +~/2 > /5 + 13

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % qEIIATE I

Question Number : 85 Question Id : 97675530521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?



. i

[Jﬁ 0 fﬁ] =2
I. If M = 64 and N = 289, then .
II. Highest Common Factor of 210, 445 and 975 is 15.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 85 Question Id : 97675530521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 oF I1/a wu= I8 8782

5 1
(VWM + N - N - VM ' =2
1L afd M =64 TUTN =289 8, Y |
IL 210, 445 TUT 975 T HeTH JHUIAD 15 B
Options :
1. ¥ Had 1
2. % Had II
3. % [T I gl
4. % I IAE I

Question Number : 86 Question Id : 97675530522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 80 results is 32. If 4 is subtracted from each result, then what will be the new average of the results?
Options :

1. % 26

2. %27



3.9 28
4. % 29

Question Number : 86 Question Id : 97675530522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

80 TRUTTHY T 379 32 § | e T URUIE I 4 T STTdT 8, 3 UROTHI o7 74T SIRTd T gRm?
Options :

1. # 26

2. %27

3.9 28

4. % 29

Question Number : 87 Question Id : 97675530523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average age of a team having 13 players is 25 years. If the age of the coach is also included, then the average age increases by 1 years. What is
the age of the coach?

Options :

1. * 48 years
2. # 41 years
3. ¥ 39 years
4. = 37 years

Question Number : 87 Question Id : 97675530523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13 %ﬁ@u‘fa@rwwﬁsﬁw&nﬁzs Iy B 1 afe ikt T g +ft wnfire @t et 8, < SfiTd 3y 1 9N 9 it 7 1 UfRierds @ 3y
Y
Options :

1. % 489Y
2. % 419Y



3.4 39dY
4. % 3799

Question Number : 88 Question Id : 97675530524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper purchased a chair whose marked price is Rs 1500, at two successive discount of 20 percent and 20 percent respectively. If he sells
the chair for Rs 1248, then what is his profit percentage?

Options :

1. # 20 percent
2. % 10 percent
3. % 25 percent
4. ¥ 30 percent

Question Number : 88 Question Id : 97675530524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHIER U Hul forahT Sifdhd Jed 1500 BT 8, BT HH: 20 YA TUT 20 W= Bt & HiHd Fe R BRIad ¢ | IS 98 HUI &
1248 3090 H 9l §, df ST Ay Uf=rd &1 82

Options :

1. % 20 gfard
2. % 10 Ufa=rd
3. % 25 gfa=rd
4. ¢ 30 Ufa=rd

Question Number : 89 Question Id : 97675530525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. If marked price is 5200 and selling price is 4628, then discount is 16 percent.
I1. If marked price is 6565 and discount is 30 percent, then selling price is 5252.
III. If marked price is 7800 and discount is 36 percent, then selling price is 4992.
I'V. If marked price : selling price is 39 : 31, then discount is 7.95 percent.



Options :

1. % I,Iland IV
2. % Il and III
3. % [l and IV
4. % Only III

Question Number : 89 Question Id : 97675530525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRed & I &1 91 S 981 52

1. Tfe 3iford Ged 5200 T fasha e 4628 §, A1 e 16 U= g

11. A 3ifhd gedr 6565 TUT Fe 30 Ul 8, df fasha geur 5252 B
111. Tfe 3ifhd Teg 7800 § TUT B 36 UTARIA &, o fdehd el 4992 B
1v. 9 Sifhd god : faha 4w 39 : 31 §, A §e 7.95 UfARd 8|

Options :

1.% LIIdUr v
2. % I1 dYTIII
3. % I dUTIV

4. Had I

Question Number : 90 Question Id : 97675530526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 10 percent of M is equal to 15 percent of N, then what is the ratio of M and N?
Options :

1.¥3:2
2.%2:3
3.% 4:3
4. % 3:4

Question Number : 90 Question Id : 97675530526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gfg M BT 10 IR, N & 15 Ta=Td & SRI6R 8, A1 M TUT N BT 3T 31 62
Options :

1.¥3:2

2. % 2:3

3.%4:3

4. % 3:4

Question Number : 91 Question Id : 97675530527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an election between two candidates, a candidate got 60 percent of valid votes and he won by a majority of 9540 votes. If 40 percent votes were
invalid, then what is the total number of valid votes?

Options :

1. #® 78200
2. % 79500
3. #* 81400
4. % 83600

Question Number : 91 Question Id : 97675530527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l IR & ol T gA1d U, Th IWIGAR P HI- Tl &b 60 Uia=Td el 941 98 9540 Hell o SgHd I Sitd 71471 Ife 40 Ufd=rd Ad
AT &, O W= Al &1 e TRed T 82

Options :

1. % 78200

2. ¢ 79500

3. % 81400

4. % 83600

Question Number : 92 Question Id : 97675530528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The number of girls and boys in a class are 500 and 600 respectively. If 80 percent of girls and 10 percent of boys passed in an exam, then what
percentage students of the total students failed in the exam?

Options :

1. # 76.14 percent
2. # 64.23 percent
3. % 58.18 percent
4. % 41.82 percent

Question Number : 92 Question Id : 97675530528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Hef T TSfhdl aUT TS o1 T HHTT: 500 TUT 600 g | TfS 80 Uf=Td ASfal auT 10 YT AS% Th URiem H S<iivi gU g, A
S & fbd ufawrd 3 ufiem § orxiivi gu gy

Options :

1. % 76.14 Ufa=rd

2. % 64.23 gfa=rd

3. ¢ 58.18 Ufa=Id

4. % 41.82 gfa=rd

Question Number : 93 Question Id : 97675530529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of rice is decreased by 37.5 percent and Vivek can purchase 30 kg more rice for Rs. 2000. What was the original price of rice?
Options :

1. % Rs. 37.5/kg

2. % Rs.42.5/kg

3. % Rs. 45/kg

4. ¥ Rs. 40/kg

Question Number : 93 Question Id : 97675530529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TTad BT H 37.5 TR § HH 81 STTal § adT [dae 2000 ¥9F H 30 o5, U1, 311 a1ad Wlie Urdl 8 | I1ad &1 dRdfdd Jed 3T Y12
Options :

1. % 37.5 308/,
2. % 42,5599/,
3. % 45 300/B .
4. ¥ 40 >0/ .

Question Number : 94 Question Id : 97675530530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of a book is Rs. 200 and it is sold for Rs. 140. What is the discount percentage?
Options :

1. # 60 percent

2. % 30 percent

3. % 40 percent

4. % 50 percent

Question Number : 94 Question Id : 97675530530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T $1 3ffohd Jed 200 U g 3R T 140 0 T 991 71 g | B Ufa=rd o1 82
Options :

1. % 60 Ufd=rd

2. ¢ 30 gfa=rd

3. % 40 gfa=rd

4. % 50 Ufa=rd

Question Number : 95 Question Id : 97675530531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A shopkeeper wants to earn 40 percent profit on an article after offering 20 percent discount to the customer. To achieve desired profit percent,
the marked price should be how much percent more than the cost price?

Options :
1. ® 50
2. % 60
3.¥ 75
4. % 25

Question Number : 95 Question Id : 97675530531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHIMGR TP DI 20 T=Id B FE ¢ & 916 Ud a¥d WR 40 U= AY HHT 18 ¢ | difesdd Ay =i Wit a3 & forg, sifara
e %4 Jed I ford=1 ufa=rd sifde g1 anfgee

Options :

1. % 50

2. % 60

3.9 75

4. % 25

Question Number : 96 Question Id : 97675530532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fruit merchant makes a profit of 20 percent by selling mangoes at a certain price. If he increases the selling price per mango by Rs.10, then the
profit percent becomes 60 percent of orignal cost price. What is the cost price per mango?

Options :

1. ¥ Rs. 25
2. % Rs. 20
3. % Rs. 15
4. % Rs. 30

Question Number : 96 Question Id : 97675530532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

% T AUR] T M Jod TR SHH daHR 20 U= &1 arH HHI ¢ | 1G98 Ui 31 fa%ha 9o &1 10 $u8 A 9gl adl §, < arH
fa=Td SRS 30 Ted &1 60 U= g1 S ¢ | Uil 39 58 T o1 82

Options :

1. ¥ 25300

2. % 20304

3. % 15500

4. % 30307

Question Number : 97 Question Id : 97675530533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 6/5 of a is equal to 4/7 of b, then what is the value of a : b?
Options :

1. 10: 21

2.%5:4

3. % 21:11

4. % 10:23

Question Number : 97 Question Id : 97675530533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a BT 6/5 HRTb b 4/7 U & SRISR B, l a : b BT HMH T 62
Options :

1.¥10:21

2. % 5:4

3.% 21:11

4. % 10:23

Question Number : 98 Question Id : 97675530534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The ratio of three numbers is 3 : 5 : 8. If the sum of the three numbers is 320, then what is the smallest number among the three numbers?
Options :

1. #* 100

2. % 160

3. ¥ 60

4. % 140

Question Number : 98 Question Id : 97675530534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 TRenaTt BT SuTa 3 1 5 : 8 8 | Afe oAl TRenSil d1 AT 320 B, A A1 Semell H I e Bic! e 71 82
Options :

1. #* 100

2. % 160

3. ¥ 60

4. % 140

Question Number : 99 Question Id : 97675530535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y and Z start a partnership. They invested Rs. 20000, Rs. 25000 and Rs. 30000 respectively. They stayed in partnership for 1 years, 2 years
and 3 years respectively. If Y’s share in the total profit is Rs. 6000, then what is the total profit?

Options :

1. ¥ Rs. 16200
2. % Rs. 24800
3. ¥ Rs. 19200
4. % Rs. 21600

Question Number : 99 Question Id : 97675530535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y TUT Z U WIRIERI Y& H3d g | d HHRT: 20000 ST, 25000 TUT TUT 30000 TUY A% 3 g | 9 HH: 1 99, 2 a4 9uT 3 99 & fog



TR H e §1 afe i H v &7 38T 6000 T9T B, & o oY T 72
Options :

1. % 16200 30"

2. % 24800 3T

3. ¢ 19200 39T

4. % 21600 3T

Question Number : 100 Question Id : 97675530536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a party hall, there are people in blue and red dresses. The ratio of number of men in blue to the number of women in red is 6 : 14. The ratio of
men in red to the number of women in blue is 4 : 2. If the ratio of number of people in blue to the number of people in red is 70 : 152, then what
is the ratio of number of men to the number of women?

Options :

1. % 46:49
2.%52:59
3. % 51:58
4, % 55:61

Question Number : 100 Question Id : 97675530536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH TS gid |, el auT a1d T &1 arRnes J arT g | =ial S &1 Ui & Gl &1 TRed &1 ard S St Uieies | Afgarsii & ¥em 9
3IUTA 6 : 14 | AT T 1 UIRNTSh B GO b TRSAT T 11 T 1 Qe o Afgermaft ot Jramsit I 3qurd 4 : 2 g1 3 i T & vl o
T T AT T H AN 1 =T I U 70 : 152 8, O &0 ! TS 4T Afg sl &1 T &1 SJurd 31 62

Options :

1. % 46:49

2.9 52:59

3. % 51:58

4. % 5561
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Question Number : 101 Question Id : 97675530537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At simple interest, a certain sum of money becomes Rs. 720 in 4 years and becomes Rs. 840 in 5 years.What is the simple interest for 5 years?
Options :

1. ¥ Rs. 120

2. % Rs. 720



3. ¥ Rs. 600
4. % Rs. 480

Question Number : 101 Question Id : 97675530537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIYRT TS R, U (A2 iR 4 9 & 720 =0 81 St 8 3R 5 a6f & 840 0 §Y W<t 8| 5 I8 b o JTURUT SIS 47 82
Options :

1. % 120390

2. % 720909

3. ¢ 600 TUY

4. % 480 3T

Question Number : 102 Question Id : 97675530538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A principal of Rs. 480000 is lent out at compound interest(compounding annually) for 3 years. If the rate of interest is 12.5 percent per annum for
the first year, 10 percent per annum for second year and 37.5 percent per annum for the third year, then what will be the amount after three years?

Options :

1. ¥ Rs. 816750
2. % Rs. 810750
3. ¥ Rs. 816860
4, % Rs. 816869

Question Number : 102 Question Id : 97675530538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

480000 0T & T YA PI 3 a8 & [o1g TS (@Tfep FaoH WR) R YR fear a1 81 afe g a¥ & fele s Y &R 12,5
gfererd ufd o, gk oy & fore 10 vfawra ufa av iR iR avf & e 37.5 ufasrd ufd oy 8, 4 <= oot arg fysem s greme
Options :

1. ¢ 816750 T4

2. % 810750 UL



3. % 816860 3UY
4. % 816869 SUY

Question Number : 103 Question Id : 97675530539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between simple interest and compound interest (compounding annually) of 3 years is Rs. 150.43. If the rate of interest is 7 percent
per annum, then what is the principal?

Options :

1. % Rs. 1000
2. % Rs. 5000
3. % Rs. 8000
4. % Rs. 10000

Question Number : 103 Question Id : 97675530539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%mﬁ$ww TS 3R Thdfg SIS (A YIS UR) & & T 3faR 150.43 T g | IS S Pt &R 7 Ufawrd Ufa a8 g, df Jaed a1
?

Options :

1. % 1000 7Y
2. % 5000 TYY
3. % 8000 TYY
4. ¥ 10000 304

Question Number : 104 Question Id : 97675530540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car is moving at a speed of 54 km/hr. What will be the total time taken by this car to cover a distance of 150 metre?
Options :

1. % 20 seconds

2. % 12 seconds



3. % 10 seconds

4. % 15 seconds

Question Number : 104 Question Id : 97675530540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR 54 fob 1t e o1 1fd F 70 @ 81 TP 150 Hiex &1 gl I a9 HRA H SR gRT fordT a1 T o1 g
Options :

1. % 20 YhUg

2. % 12YHUS

3. 10 YhUg

4. % 15 YDHUS

Question Number : 105 Question Id : 97675530541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manish is 5 km ahead of Puneet. Manish and Puneet are moving in the same direction at the speed of 80 km/hr and 90 km/hr respectively. In how
much time will Puneet catch Manish?

Options :

1. ¥ 30 minutes
2. ¥ 40 minutes
3. ¥ 25 minutes

4. % 15 minutes

Question Number : 105 Question Id : 97675530541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, O O 5 o 1Y, o 8 1 AR T O T TR H SR 80 o w1 der aut 90 fo. /et &t ifd & 9 38 § | T, 7Y &l fbaq
99 H s T
Options :

1.+ 30 fie
2. % 40 e




3. % 25 fie
4, % 15 e

Question Number : 106 Question Id : 97675530542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat can cover 49 km downstream and 27 km upstream in 16 hours. It can cover 63 km downstream and 12 km upstream in 13 hours. What is
the speed of the boat in still water?

Options :

1. ¥ 5 km/hr
2. % 7 km/hr
3. # 2 km/hr
4. % 12 km/hr

Question Number : 106 Question Id : 97675530542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 14 URT & 3% d 49 .1, TUT 4R1 & fdd 27 fob 1. BT 16 6 & G0 B Ahdll 81 T8 URT & 3% 63 [ 1. Tu1 9R1 & vfdwa
12 for 1. Y 13 6 0 00 R Tabell o | FRR oI § A1d 1 11 a1 82

Options :

1. ¢ 5 fop 1t /e
2. % 7fdb Y /ger
3. % 2 fop .Y /5ieT
4. % 12 fe e

Question Number : 107 Question Id : 97675530543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work in 15 days. How many days will A take to complete a another work which is 7 times of this work?
Options :

1. # 75 days

2. % 135 days



3. % 60 days
4. ¥ 105 days

Question Number : 107 Question Id : 97675530543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH B BT 15 fE B HR THa1 8 | U 30 B Sl SUPHT 7 0N § B B | A B! foba fed adian
Options :

1. % 75 feq

2. % 135faA

3. % 60faA

4.4 105 T

Question Number : 108 Question Id : 97675530544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P alone can do a work in 40 days and Q alone can do the same work in 60 days. How many days will both P and Q together take to complete 37.5
percent of the same work?

Options :

1. # 12 days
2. % 24 days
3. % 9 days
4. % 10 days

Question Number : 108 Question Id : 97675530544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3P TP B BT 40 & H R Il 8 3R Q 3fhal I &1 B 60 e H R Iha1 81 P 3R Q T firdes: It i &1 37.5 wfa=rd
R HRA | fpam fe A

Options :

1% 12feq

2. % 24feq




3. ¢ 9feq
4. % 10faT

Question Number : 109 Question Id : 97675530545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To do a certain work, the time taken by R alone is 4 times of the time taken by P and Q together.To do the same work the time taken by Q alone is
3 times of the time taken by P and R together. P, Q and R together can complete the same work in 66 days. In how many days P alone can
complete the same work?

Options :

1. # 80 days
2. % 100 days
3. % 120 days
4. % 150 days

Question Number : 109 Question Id : 97675530545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y S H & g, R GRT 3 foram a1 95 p 3R Q gRT FHae: ot T8 9Hg &1 4 AT 8 | S SR &1 34 & 7T, Q §RT
3farl foraT T WY P 3R R gRT AR 1T T8 W9 &1 3 THT 81 P, Q 3R R fArdian 33t &1 &1 66 ol H [T aR Wahd €| P 3o 3T
B B fhe 31 H 1 R qhar 82

Options :

1. % gofam

2. % 100 faa

3.¢ 120 faF

4. % 150fea

Question Number : 110 Question Id : 97675530546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 men and 8 women complete a work in 30 days while 18 men and 30 women complete the same work in 10 days. In how many days 5 women
and 15 men will complete the same work?



Options :

1. # 12 days
2. # 45 days
3. # 44 days
4. ¥ 36 days

Question Number : 110 Question Id : 97675530546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 3 3R § ARG T S &1 30 ol § G vl § STaih 18 TIY 3R 30 Afgay I B &1 10 oA § QT =l 61 5 ARFATT 3R 15
T3Y I B Bl fba- el B R B

Options :

1. % 2feq

2. % 45faT

3. % 44feT

4. 36faa

Question Number : 111 Question Id : 97675530547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of the longest rod that can be placed in a cubical room is 10\V3cm. What is the volume of the cube?
Options :

1. ¢ 1000 cm?

2. % 1200 cm?

3. % 864 cm’

4. % 1728 cm?

Question Number : 111 Question Id : 97675530547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T YIHR HH 7 TG ST G- aTelt T dell 98 B dars 1073 F.H. 81 99 &7 3ad 1 82




Options :

1. ¥ 1000 9.H13
2. % 1200 9.H13
3. % 864413
4. % 1728 QA3

Question Number : 112 Question Id : 97675530548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three circles of radius 7 cm are placed in such a way that each circle touches the other two. What is the area of the portion enclosed by these
three circles?

Options :

| 4933 =77 em?

5 % 4743 — 66 cm?

4 % 37V3 57 cm?

Question Number : 112 Question Id : 97675530548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7@.%ﬁwa@r?ﬁ?ﬁsﬂwﬁmﬁmmw%ﬁﬁmqa 310 &1 gl T W R |1 3 i1 gl o gIRT O 7T & &1 8
1 I
Options :

| 49377 .72



5 % 473 — 66 T.HT2

5443 — 77 @32

3. %

, & 37T3-57@A2

Question Number : 113 Question Id : 97675530549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Circumference of a circle is equal to the perimeter of a square which is equal to the 88 cm. Area of circle is 132cm? more than the area of
square.

II. Radius of base and height of a cylinder are 15 cm and 21 cm respectively. Curved surface of cylinder is 1980 cm?.
Options :

1. % Only I

2. % Only II

3. % Both I and II

4. # Neither I nor II

Question Number : 113 Question Id : 97675530549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiead & @ ®F 91 &Y= 981 /2

1. U g9 &1 IR T I o IRATY & SRTeR ¢ off 88 .1, & SRISR & | I BT &6 aF & &hd 4 132 9.1H1.2 F 3fF |
1. TF 9T & SATYR B Bo01 adT Sdls HHS: 15 .. qur 21 J.HY. 81 97 &1 9 JEa 8a%d 1980 .2 |

Options :

1. % Had |

2. % Had I

3. ¢ 1QYT I gAY

4. % A IAIE I



Question Number : 114 Question Id : 97675530550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Length and breadth of a rectangle are 12 cm and 8 cm. If perimeter of this

rectangle is equal to the perimeter of a square. then the difference between
the area of a square and rectangle is 8 cm?.

II. Area of an equilateral triangle is 363 cm?. If perimeter of the
equilateral triangle is equal to the perimeter of a square. then area

of square will be 144 cm?’.
Options :
1. % Only I
2. % Only II
3. #% Both I and II
4. ¥ Neither I nor II

Question Number : 114 Question Id : 97675530550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafea # @ &9 @ 799 7

I O HAT #r oFas quraitsrs 12 aA gur s B # oY 5w smw W ool o S F
qf{AT & SUEY 2 A I aW WO F S & 49 F7 {6 s a7

I U FARRS F &6 3613 A 7 A 30 GAlE & AW & T & &% &
aUET £ 3 I a7 A e 14w §

Options :



1. % FHadl
2. % HAd I
3. % [QUT I gl
4. IR

Question Number : 115 Question Id : 97675530551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of cars parked in 8 parking areas.

Parking Area | Number of cars
Pl 146
B2 98
P3 37
P4 49
P5 58
Po6 118
P 68
P8 106
What is the sum of number of cars parked in P2, P3, P8 and P6?
Options :
1. # 367
2. % 359
3. % 208
4. # 259

Question Number : 115 Question Id : 97675530551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=it 1 718 dferenT 8 UTfchTT &r=l H WST b1 T PRI B HBAT bl Gl

qrichel &F | ®RI & G&AT
Pl 146
P2 98
P3 37
P4 49
P5 58
Po6 118
P7 68
P8 106
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Options :
1. % 367
2. ¥ 359
3. % 208
4. % 259

Question Number : 116 Question Id : 97675530552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of bottles of two types manufactured in four consecutive years.



Years Type 1 Type 2
Y1 64 58
Y2 38 116
Y3 92 28
Y4 104 76

P — Difference between the number of bottles of type 1 manufactured in Y3 and Y2
Q — Total number of bottles manufactured of type 2 in the given years

What is the value of P + Q?

Options :
1. % 342
2. % 316
3.9 332
4. % 328

Question Number : 116 Question Id : 97675530552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 & Tt arferenT TR AT anf § A S YR @) Sidal Bt Ge Bl aid 8|

ay JhR 1 YRR 2
Y1 64 58
Y2 38 116
Y3 92 28
Y4 104 76
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Options :




1. * 342
2. % 316
3.¥ 332
4. % 328

Question Number : 117 Question Id : 97675530553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of wickets taken by three bowlers in four series.

ARG Number of wickets
S1 52 S3 S4
Bl 16 12 4 11
B2 8 16 13 2
B3 9 15 10 16

Which of the following statement is correct?

I. Difference between the number of wickets taken by B1 in S4 and the number of wickets taken by B3 in S2 is 4.
II. Average number of wickets per series taken by B2 is 9.25

III. Number of wickets taken by B2 in S2 are 160 percent of the number of wickets taken by B3 in S3.

Options :

1. * Only I

2. % Both II and III
3. % Both I and 111
4. % Neither I nor II

Question Number : 117 Question Id : 97675530553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had I

2. % 1 AU Gl
3. ¢ 1 AU 11 o
4. % AT I

Question Number : 118 Question Id : 97675530554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of employees working in 6 departments of a company. Number of employees are shown as a
percentage of total number employees working in all the 6 departments.



Which of the following statement is incorrect?
I. Total central angle formed by the sectors of D3, D4 and D6 is 219.6 degrees
I1. Total number of employees working in D3 and D5 are 163.16 percent of the number of employees working in D2

Options :

1. * OnlyI

2. % Only II

3. %* BothIandII
4. ¥ Neither I nor II

Question Number : 118 Question Id : 97675530554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= fear mar urs A1 U U & 6 faHrT & B R I HHRAT Bt TE o) <WidT | | HHATNRGY B T-AT DI 37 6 FAUT H HTH HR @
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I. D3, D4 TUT D6 & WUS! GRT T T Hd higd HI0T 219.6 fSH 8

I1. D3 TYT D5 T HTH R g HHANRD B1 Hdl T, D2 T HTH HR I HHANRAT 1 WA B 163.16 UfA=Td &
Options :

1. % Had 1
2. % Had Il
3. % [ QYT gHl
4. GBI

Question Number : 119 Question Id : 97675530555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar chart given below shows the price of seven articles.
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What is the ratio of price of A2 to the total price of A6 and A7?
Options :

1. % 38:15

2.%15:43

3. % 43:15

4.¥15:38

Question Number : 119 Question Id : 97675530555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %3815

2. % 15:43

3.% 4315

4.4 15:38

Question Number : 120 Question Id : 97675530556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of costumers visiting two malls in 6 consecutive months.



——Mall 1 —=-Mall2

].Eﬂ - 170

160 - 140

120 4
100 - i
gﬂ 1 60

60 Q 60
40 4 30 60

20 - 40
0 +———
M1 M2

LI T T

M3 M4

M5 M6

K — Average of number of customers visiting mall 2
F — Average of number of customers visiting mall 1
What is the value of F — K?

Options :
1. % 12
2. % 18
3.¥ 15
4. % 20

Question Number : 120 Question Id : 97675530556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 12
2. % 18
3.¥ 15
4. % 20
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Question Number : 121 Question Id : 97675530557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Either your brother(1)/or my sister are (2)/going to the event (3)/.No error (4)

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 121 Question Id : 97675530557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Either your brother(1)/or my sister are (2)/going to the event (3)/.No error (4)

Options :



1. * 1
2.¥2
3.%3
4. % 4

Question Number : 122 Question Id : 97675530558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My father said (1)/ that he was (2)/disappointed of me(3)/.No error (4)

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 122 Question Id : 97675530558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My father said (1)/ that he was (2)/disappointed of me(3)/.No error (4)

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 123 Question Id : 97675530559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My sister has been (1)/living in (2)/London for 2010 (3)/.No error (4)

Options :



1. % 1
2.% 2
3.3
4. % 4

Question Number : 123 Question Id : 97675530559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My sister has been (1)/living in (2)/London for 2010 (3)/.No error (4)

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 124 Question Id : 97675530560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Please cancel all my (1)/meetings for tomorrow, as I (2)/am not feeling well (3)/.No error (4)

Options :
1. %1
2.% 2
3.%3
4. ¥ 4

Question Number : 124 Question Id : 97675530560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Please cancel all my (1)/meetings for tomorrow, as I (2)/am not feeling well (3)/.No error (4)



Options :
1. % 1
2. %2
3.%3
4. ¥ 4

Question Number : 125 Question Id : 97675530561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My parents and I are (1)/trying hardly to get (2)/your favourite toy(3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 125 Question Id : 97675530561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
My parents and I are (1)/trying hardly to get (2)/your favourite toy(3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 126 Question Id : 97675530562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I could see a trickle of drool shining (from the corner of) her mouth.



Options :

1. # in the corner

2. % at corner

3. # about the corner

4. ¥ No improvement

Question Number : 126 Question Id : 97675530562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I could see a trickle of drool shining (from the corner of) her mouth.

Options :

1. # in the corner

2. % at corner

3. # about the corner

4. ¥ No improvement

Question Number : 127 Question Id : 97675530563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
(Scarcely did) the thought occur to him than he acted upon it.

Options :

1. ¥ No sooner did
2. % Scarcely he did
3. # Hardly did

4. % No improvement

Question Number : 127 Question Id : 97675530563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.



(Scarcely did) the thought occur to him than he acted upon it.
Options :

1. ¥ No sooner did

2. # Scarcely he did

3. % Hardly did

4. ¥ No improvement

Question Number : 128 Question Id : 97675530564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
(If he written more), he would have been able to get extra marks.

Options :

1. # If he is written more
2. ¥ If he had written more
3. % If he written little

4. ¥ No improvement

Question Number : 128 Question Id : 97675530564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
(If he written more), he would have been able to get extra marks.

Options :

1. # If he is written more
2. ¥ If he had written more
3. % If he written little

4. ¥ No improvement

Question Number : 129 Question Id : 97675530565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
She was one of (the strongest womans) who lived here.

Options :

1. % the more stronger woman
2. # the strong womans

3. ¥ the strongest women

4. ¥ No improvement

Question Number : 129 Question Id : 97675530565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
She was one of (the strongest womans) who lived here.

Options :

1. % the more stronger woman
2. # the strong womans

3. ¥ the strongest women

4. ¥ No improvement

Question Number : 130 Question Id : 97675530566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I would appreciate that Neha (start the work on time).

Options :

1. # would start the work in time
2. ¥ started the work on time

3. % did worked on time

4. ¥ No improvement

Question Number : 130 Question Id : 97675530566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I would appreciate that Neha (start the work on time).

Options :

1. #* would start the work in time
2. ¥ started the work on time

3. # did worked on time

4. % No improvement

Question Number : 131 Question Id : 97675530567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Government is asking people to stay home as as possible.

Options :

1. #* most
2. % much
3. * many
4. % lot

Question Number : 131 Question Id : 97675530567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Government is asking people to stay home as as possible.

Options :

1. #* most
2. % much
3. * many
4. % lot

Question Number : 132 Question Id : 97675530568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I how important this project is for you.

Options :
1. # adorn
2. ¥ know
3. # take

4. % make

Question Number : 132 Question Id : 97675530568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
I how important this project is for you.

Options :
1. # adorn
2. ¥ know
3. # take

4. % make

Question Number : 133 Question Id : 97675530569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Please do not hesitate, if you any information from me.

Options :
1. % wanted
2. # required
3. % need
4. % feed

Question Number : 133 Question Id : 97675530569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Please do not hesitate, if you any information from me.

Options :
1. # wanted
2. # required
3. ¥ need
4. % feed

Question Number : 134 Question Id : 97675530570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
It’s proving so difficult to the side effects of this medicine.

Options :

1. # leverage
2. % limit

3. # regard

4. ¥ paramount

Question Number : 134 Question Id : 97675530570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
It’s proving so difficult to the side effects of this medicine.

Options :

1. # leverage
2. % limit

3. # regard

4. ¥ paramount

Question Number : 135 Question Id : 97675530571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Any degree of travel can facilitate the interpersonal and geographical spread of disease.

Options :

1. ¥ both

2. % among
3. # between

4. % every

Question Number : 135 Question Id : 97675530571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Any degree of travel can facilitate the interpersonal and geographical spread of disease.

Options :

1. ¥ both

2. % among
3. # between

4. % every

Question Number : 136 Question Id : 97675530572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The organization is:

P. contributions made

Q. financed primarily

R. from annual

S. by members of government

Options :
1. ¥ SQRP
2. % QRPS



3. ¥ PQRS
4. % RPQS

Question Number : 136 Question Id : 97675530572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
The organization is:

P. contributions made

Q. financed primarily

R. from annual

S. by members of government

Options :

1. % SQRP
2. ¥ QRPS
3. % PQRS
4. % RPQS

Question Number : 137 Question Id : 97675530573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Plastic as a substance

P. for hundreds of years,

Q. remains in the environment

R. is non-biodegradable and

S. polluting it immensely

Options :

1. % PSQR
2. % RSQP
3. ¥ RQPS
4. % PSRQ

Question Number : 137 Question Id : 97675530573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Plastic as a substance

P. for hundreds of years,

Q. remains in the environment

R. is non-biodegradable and

S. polluting it immensely

Options :

1. ¥ PSQR
2. % RSQP
3. % RQPS
4. % PSRQ

Question Number : 138 Question Id : 97675530574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Many countries

P. or levy heavy tax on it

Q. a ban on unleaded petrol

R. around the globe

S. have either put

Options :

1. # RSPQ
2. % RQSP
3. % RPSQ
4, ¥ RSQP

Question Number : 138 Question Id : 97675530574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Many countries
P. or levy heavy tax on it



Q. a ban on unleaded petrol
R. around the globe
S. have either put

Options :

1. % RSPQ
2. % RQSP
3. ¥ RPSQ
4. ¥ RSQP

Question Number : 139 Question Id : 97675530575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Bhagat Singh attended Dayanand Anglo Vedic High School, and then National College, both located in Lahore.
Q. He also worked as a writer and editor in Amritsar for newspapers espousing Marxist theories.

R. He is credited with popularizing the catchphrase “Inquilab zindabad” (“Long live the revolution™).

S. He began to protest British rule in India while still a youth and soon fought for national independence.
Options :

1. ¥ PSQR

2. ®* PQSR

3. ¥ SQRP

4. % SQPR

Question Number : 139 Question Id : 97675530575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. Bhagat Singh attended Dayanand Anglo Vedic High School, and then National College, both located in Lahore.

Q. He also worked as a writer and editor in Amritsar for newspapers espousing Marxist theories.

R. He is credited with popularizing the catchphrase “Inquilab zindabad” (“Long live the revolution™).

S. He began to protest British rule in India while still a youth and soon fought for national independence.

Options :

1. ¥ PSQR



2. % PQSR
3. % SQRP
4. % SQPR

Question Number : 140 Question Id : 97675530576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Survey

Options :

1. % Access
2. % Audit

3. % Allow
4. % Accept

Question Number : 140 Question Id : 97675530576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Survey

Options :

1. % Access
2. % Audit

3. % Allow
4. % Accept
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Group Minimum Duration : 0
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Question Number : 141 Question Id : 97675530577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Sympathy

Options :

1. * Carrion

2. % Callow

3. ¢ Condolence

4. % Concert

Question Number : 141 Question Id : 97675530577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Sympathy

Options :

1. # Carrion

2. # Callow

3. ¥ Condolence

4. % Concert

Question Number : 142 Question Id : 97675530578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Disreputable

Options :

1. # Misdemeanour
2. ® Stirrup

3. % Prestigious

4. ¥ Undoubtedly

Question Number : 142 Question Id : 97675530578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Disreputable

Options :

1. ¥ Misdemeanour
2. ® Stirrup

3. % Prestigious

4. #¥ Undoubtedly

Question Number : 143 Question Id : 97675530579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Hardship

Options :

1. ¥ Opportunity
2. % Emphatic
3. % Settle

4. ¥ Dainty

Question Number : 143 Question Id : 97675530579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Hardship

Options :

1. ¥ Opportunity
2. % Emphatic
3. % Settle

4. ¥ Dainty

Question Number : 144 Question Id : 97675530580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Denouncement

2. # Denounccement

3. # Denuoncement

4. % Denouoncement

Question Number : 144 Question Id : 97675530580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Denouncement

2. # Denounccement

3. ¥ Denuoncement

4. % Denouoncement

Question Number : 145 Question Id : 97675530581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Cullminate

2. % Culmenate

3. % Culminate

4. % Culiminate

Question Number : 145 Question Id : 97675530581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Cullminate

2. # Culmenate

3. % Culminate

4. % Culiminate

Question Number : 146 Question Id : 97675530582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. # Acelerate

2. # Accellerate
3. % Acellerate

4. ¥ Accelerate

Question Number : 146 Question Id : 97675530582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Acelerate

2. #% Accellerate

3. # Acellerate

4. ¥ Accelerate

Question Number : 147 Question Id : 97675530583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Therapeutic

2. % Therapuetic

3. # Therappeutic

4. % Therappuetic

Question Number : 147 Question Id : 97675530583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Therapeutic



2. # Therapuetic
3. % Therappeutic
4. ¥ Therappuetic

Question Number : 148 Question Id : 97675530584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
By hook or by crook

Options :

1. % To relax

2. ¥ By any means

3. % To avoid taking sides

4. % Feel uncomfortable

Question Number : 148 Question Id : 97675530584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
By hook or by crook

Options :

1. % To relax

2. ¥ By any means

3. % To avoid taking sides

4. % Feel uncomfortable

Question Number : 149 Question Id : 97675530585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Without a doubt

Options :
1. * Without consent



2. % Without knowledge
3. % For certain
4. % Without laws

Question Number : 149 Question Id : 97675530585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Without a doubt

Options :

1. # Without consent

2. % Without knowledge
3. % For certain

4. ® Without laws

Question Number : 150 Question Id : 97675530586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Tie the knot

Options :

1. % To get cultured

2. # To beat someone
3. % To get married

4. # To be turned away

Question Number : 150 Question Id : 97675530586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Tie the knot

Options :



1. # To get cultured
2. # To beat someone
3. % To get married

4. # To be turned away

Question Number : 151 Question Id : 97675530587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Smell a rat

Options :

1. # To divulge secrets

2. # Talking gibberish

3. % To get success in a job

4. ¥ To suspect that something is wrong

Question Number : 151 Question Id : 97675530587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Smell a rat

Options :

1. # To divulge secrets

2. # Talking gibberish

3. % To get success in a job

4. ¥ To suspect that something is wrong

Question Number : 152 Question Id : 97675530588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Something that is prohibited by law

Options :



1. % Illicit
2. % Inimitable
3. % Tllegible

4. % Invincible

Question Number : 152 Question Id : 97675530588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Something that is prohibited by law

Options :

1. % Tllicit

2. # Inimitable
3. % Tllegible

4. % Invincible

Question Number : 153 Question Id : 97675530589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A study of birds

Options :

1. ¥ Ethnology
2. % Ornithology
3. # Etymology
4. ¥ Archaeology

Question Number : 153 Question Id : 97675530589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
A study of birds



Options :

1. # Ethnology
2. % Ornithology
3. # Etymology
4. # Archaeology

Question Number : 154 Question Id : 97675530590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
People living at the same time

Options :

1. # Humanist
2. # Succeeding
3. # Preceding

4. ¥ Contemporaries

Question Number : 154 Question Id : 97675530590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
People living at the same time

Options :

1. # Humanist
2. # Succeeding
3. # Preceding

4. ¥ Contemporaries

Question Number : 155 Question Id : 97675530591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
About to happen



Options :

1. ¥ Imminent
2. % Impassable
3. * Eminent

4, % Immortal

Question Number : 155 Question Id : 97675530591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
About to happen

Options :

1. ¥ Imminent
2. # Impassable
3. * Eminent

4, % Immortal

Sub-Section Number : 2
Sub-Section Id : 9767551539
Question Shuffling Allowed : Yes

Question Id : 97675530592 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

The view in late medieval Europe that the first diplomats were angels, or messengers from heaven to earth, is perhaps fanciful, but some elements
of diplomacy predate recorded history. Early societies had some attributes of states, and the first international law arose from intertribal relations.
Tribes negotiated marriages and regulations on trade and hunting. Messengers and envoys were accredited, sacred, and inviolable; they usually
carried some emblem, such as a message stick, and were received with elaborate ceremonies. Women often were used as envoys because of their
perceived mysterious sanctity; it is believed that women regularly were entrusted with the vitally important task of negotiating peace in primitive
cultures.

Information regarding the diplomacy of early peoples is based on sparse evidence. There are traces of Egyptian diplomacy dating to the 14th
century BCE, but none has been found in western Africa before the 9th century CE. The inscriptions on the walls of abandoned Mayan cities
indicate that exchanges of envoys were frequent, though almost nothing is known of the substance or style of Mayan and other pre-Columbian
Central American diplomacy. In South America the dispatch of envoys by the expanding Inca empire appears to have been a prelude to conquest



rather than an exercise in bargaining between sovereigns.

The greatest knowledge of early diplomacy comes from the Middle East, the Mediterranean, China, and India. Records of treaties between
Mesopotamian city-states date from about 2850 BCE. Thereafter, Akkadian (Babylonian) became the first diplomatic language, serving as the
international tongue of the Middle East until it was replaced by Aramaic. A diplomatic correspondence from the 14th century BCE existed
between the Egyptian court and a Hittite king on cuneiform tablets in Akkadian—the language of neither. The oldest treaties, of which full texts
survive, from about 1280 BCE, were between Ramses II of Egypt and Hittite leaders. There is significant evidence of Assyrian diplomacy in the
7th century and, chiefly in the Bible, of the relations of Jewish tribes with each other and other peoples.

Sub questions

Question Number : 156 Question Id : 97675530593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-

Options :

1. #® Diplomacy: Past to Present

2. # History of diplomacy in Europe

3. ¥ History of diplomacy in ancient world

4. ® Diplomacy in early Europe

Question Number : 157 Question Id : 97675530594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, what evidence do we have to claim that Akkadian language was the diplomatic language of the Middle-East?

Options :

1. # Records of treaties between Mesopotamian city-states date from about 2850 BCE in Akkadian language indicate that it was the diplomatic
language.

2. % 7th century Assyrian diplomacy and, chiefly in the Bible, of the relations of Jewish tribes with each other and other peoples in Akkadian
language.

3. ¥ A 14th century BCE diplomatic correspondence between the Egyptian court and a Hittite king in the Akkadian language.
4. ® The inscriptions on the walls of abandoned Mayan cities in Akkadian language indicate that it was the diplomatic language.

Question Number : 158 Question Id : 97675530595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What topic did the early tribes did not negotiate on?



Options :

1. # Trade

2. % Hunting
3. # Marriage
4. ¥ Property

Question Number : 159 Question Id : 97675530596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. ¥ The first international law arose in 9th century CE.

2. % Messengers usually carried some emblem, such as a message stick, and were received with ceremonies.
3. ¥ Women often were used as envoys because of their perceived mysterious sanctity.

4. ® There are traces of Egyptian diplomacy dating to the 14th century BCE, but none has been found in western Africa before the 9th century
CE

Question Number : 160 Question Id : 97675530597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “prelude” is:
Options :

1. # Finale

2. ¥ Preamble

3. # (Cessation

4. # Epilogue

Question Id : 97675530592 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

The view in late medieval Europe that the first diplomats were angels, or messengers from heaven to earth, is perhaps fanciful, but some elements
of diplomacy predate recorded history. Early societies had some attributes of states, and the first international law arose from intertribal relations.



Tribes negotiated marriages and regulations on trade and hunting. Messengers and envoys were accredited, sacred, and inviolable; they usually
carried some emblem, such as a message stick, and were received with elaborate ceremonies. Women often were used as envoys because of their
perceived mysterious sanctity; it is believed that women regularly were entrusted with the vitally important task of negotiating peace in primitive
cultures.

Information regarding the diplomacy of early peoples is based on sparse evidence. There are traces of Egyptian diplomacy dating to the 14th
century BCE, but none has been found in western Africa before the 9th century CE. The inscriptions on the walls of abandoned Mayan cities
indicate that exchanges of envoys were frequent, though almost nothing is known of the substance or style of Mayan and other pre-Columbian
Central American diplomacy. In South America the dispatch of envoys by the expanding Inca empire appears to have been a prelude to conquest
rather than an exercise in bargaining between sovereigns.

The greatest knowledge of early diplomacy comes from the Middle East, the Mediterranean, China, and India. Records of treaties between
Mesopotamian city-states date from about 2850 BCE. Thereafter, Akkadian (Babylonian) became the first diplomatic language, serving as the
international tongue of the Middle East until it was replaced by Aramaic. A diplomatic correspondence from the 14th century BCE existed
between the Egyptian court and a Hittite king on cuneiform tablets in Akkadian—the language of neither. The oldest treaties, of which full texts
survive, from about 1280 BCE, were between Ramses Il of Egypt and Hittite leaders. There is significant evidence of Assyrian diplomacy in the
7th century and, chiefly in the Bible, of the relations of Jewish tribes with each other and other peoples.

Sub questions

Question Number : 156 Question Id : 97675530593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-

Options :

1. # Diplomacy: Past to Present

2. % History of diplomacy in Europe

3. % History of diplomacy in ancient world

4. # Diplomacy in early Europe

Question Number : 157 Question Id : 97675530594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, what evidence do we have to claim that Akkadian language was the diplomatic language of the Middle-East?

Options :

1. # Records of treaties between Mesopotamian city-states date from about 2850 BCE in Akkadian language indicate that it was the diplomatic
language.

2. # T7th century Assyrian diplomacy and, chiefly in the Bible, of the relations of Jewish tribes with each other and other peoples in Akkadian
language.



3. % A 14th century BCE diplomatic correspondence between the Egyptian court and a Hittite king in the Akkadian language.

4. # The inscriptions on the walls of abandoned Mayan cities in Akkadian language indicate that it was the diplomatic language.

Question Number : 158 Question Id : 97675530595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What topic did the early tribes did not negotiate on?
Options :

1. # Trade

2. % Hunting

3. % Marriage

4. ¥ Property

Question Number : 159 Question Id : 97675530596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. ¥ The first international law arose in 9th century CE.

2. % Messengers usually carried some emblem, such as a message stick, and were received with ceremonies.
3. % Women often were used as envoys because of their perceived mysterious sanctity.

4. ® There are traces of Egyptian diplomacy dating to the 14th century BCE, but none has been found in western Africa before the 9th century
CE

Question Number : 160 Question Id : 97675530597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The synonym of the word “prelude” is:
Options :

1. # Finale

2. ¥ Preamble

3. # (Cessation

4. # Epilogue
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Question Number : 161 Question Id : 97675530598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foUu U Trscf &1 I J1d HIoT|
farfar + 321



Options :

1. % farfer=r
2. f&ram
3. % ferass
4, % g

Question Number : 161 Question Id : 97675530598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU U Trec] B! TiY 19 BIfTY|
farfa + S

Options :

1. % farfer=r
2.« f&am
3. # f&rdsy
4. % gfiqrr

Question Number : 162 Question Id : 97675530599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T 1o & IUT Fd PR
KRN ETI)

Options :
1. % 3
2. ¢ 3y
3. % 1Y
4. %9

Question Number : 162 Question Id : 97675530599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faw MU e & Iuf 31d FIvE|
3T

Options :
1. % 3
2. ¢ 3y
3. % 99
4. %7

Question Number : 163 Question Id : 97675530600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefed & ¥ o9 97 fau 7T Uy &7 31830 781 82
A

Options :
1. % 9\$K
2. % feprs
3. % f9B1s
4, ¢ SHIS

Question Number : 163 Question Id : 97675530600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 o 91 feu U Uy &1 IeTexur 781 82
3\3H

Options :
1. % 9%
2. ® feprs
3. ® fdp1s
4. ¢ SGHIS

Question Number : 164 Question Id : 97675530601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % egeitd

2. o

3. % HG3HY
4. % Hg3fy

Question Number : 164 Question Id : 97675530601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 7T W3l & g & e T ue 91d Sifve|
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Options :

1. ® Hgulld

2. ¥ o

3. % YG3ror

4. % T3y

Question Number : 165 Question Id : 97675530602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & A S 91 e T8H s 181 82

Options :
1. ¢ RIR
2. % g
3.+ Ud
4. % 99




Question Number : 165 Question Id : 97675530602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o & SH 91 Xeg T X 51 67
Options :

1. ¢ RIR

2. % g

3. % 7F

4. % 99

Question Number : 166 Question Id : 97675530603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafRed # I & 91 Weg HIaarad 1 el 82
Options :

1. # 3™

2. % $HATg

3. % fIghR

4. el

Question Number : 166 Question Id : 97675530603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRed & I &I 91 Weg HIaarad G371 ol 82
Options :

1. *= A

2. % Gdlg

3. % fIFPR

4.« T

Question Number : 167 Question Id : 97675530604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YD

2. % Fygars

3. % qEYdAH

4. % fSara®

Question Number : 167 Question Id : 97675530604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YIS

2. % fAyTaras

3. % Q&YAHAD

4. % (SRS

Question Number : 168 Question Id : 97675530605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & I &1 91 [uarad [aRIv0T &1 33 Tl 82

Options :
1. % HHGR
2. % 3
3. % TS
4.9 Hdl




Question Number : 168 Question Id : 97675530605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o 91 (e [9Rv &1 33187 Tl /2
Options :

1. % HHGR

2. % 3N

3. % g

4.« Yl

Question Number : 169 Question Id : 97675530606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad o 9 Y& ad- &1 994 Sifod |
Options :

1. ¢ TIRNY

2. % ORIy

3. % TTHIARNY

4. % TG3AIY

Question Number : 169 Question Id : 97675530606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 gg ad- &1 994 Sifod |
Options :

1. ¢ TgaY

2. % TAgARIY
3. % TYIHAY
4. % TG3AY

Question Number : 170 Question Id : 97675530607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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S

Options :

L% I

2. % AUl

3. % 39l

4. % 374l

Question Number : 170 Question Id : 97675530607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T reg &1 fadm Treg I1d B
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Options :

1% I

2.9 AUl

3. % 39l

4. % SRET

Question Number : 171 Question Id : 97675530608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau TTQ Treg; 1 FafiRad o 9 o 91 yafaard 761 82
g4

Options :
1. % faey
2. # Ulcy
3. % 1Y
4. ¥ U]



Question Number : 171 Question Id : 97675530608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau T Treg; 1 FafiRad & 9 o 91 yafuard 761 82
g4

Options :
1. % facg
2. % Uy
3. % TS
4, ¢ Us]

Question Number : 172 Question Id : 97675530609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7 ara & Rad ®iFE &1 gfd S|
gg Ufew fdg aman grm g |
Options :

1% dr

2. % 3R

3.4 70

4. % qYl

Question Number : 172 Question Id : 97675530609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U arr § e ®IM &1 gfd Sifog |
gg Ufewr Ifdg amn g gHTd |
Options :

IR

2. % 3R



3.0
4. % qYT

Question Number : 173 Question Id : 97675530610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T a1 & Rad = &t gfd Siforg|
R de A g s

Options :

1. ¥ dlg, T8
2. = 9141

3. % Jld, dd
4. % Tgl, Tgl

Question Number : 173 Question Id : 97675530610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3Q 7T areg ¥ o ®F &1 gfd S|
AR el & I S|

Options :

1. ¢ 95, T8

2. % gL 41

3. % 9ld, dd

4. % Tgl, T8l

Question Number : 174 Question Id : 97675530611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foTu U areiy & fore Ifeid e &1 T Sifvig|
Sil effor 9 8 I

Options :




1. ¥ &g
2. % 3fefior
3. % gfiuiyg
4. % 3{&ld

Question Number : 174 Question Id : 97675530611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U Ireaiw & fore Ifeid e &1 T g |
S efor 9 81 g

Options :

1.« 3H&T
2. % 3fefiur
3. % gfiviig
4, % H&d

Question Number : 175 Question Id : 97675530612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 & 91 Wss I el Tal 82
Options :

1. % WNSM1-T = gy J §1 yerd-al
2. % YB-T[6 = 4 3fife-R

3. % fRAR = RALFHUST

4. ¢ IIWIG-IGHY = THR-IR W arel

Question Number : 175 Question Id : 97675530612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad o 9 B 91 Wea I et T8I &7

Options :



1. % WN3M1-T = gy J §1 yerd-al T
2. % YB-[E = 3Mfg-R
3. % fRAR = AL
4. ¢ IIIG-IJHY = THAR-IR W aTell

Question Number : 176 Question Id : 97675530613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T areg ¥ Yo ®F &1 gfd S|
Afed T G 8|

Options :

1. % gY

2. ¢ 3

3. % gpg

4. % HAU

Question Number : 176 Question Id : 97675530613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T areg ¥ o ®F &1 gfd S|
Afed T EdTg |

Options :

1. % gY

2. ¢ 3

3. % Joig

4. % 0N

Question Number : 177 Question Id : 97675530614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ TTQ 9190 H gduE ST BT U 1 B |



AT
Options :

1. ® gl gqHH
2. % JUTT gdHH
3. % 3qUl gAH
4. ¢ Tfery adme

Question Number : 177 Question Id : 97675530614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 770 are ® AU HTd BT We J1d B
CIRIRIL

Options :

1. # gof gddH

2. % FYT IHH
3. % 3qUl aqHE
4. ¢ AfeTy gqa™

Question Number : 178 Question Id : 97675530615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BT YANT gHLN b SR P TIY BIddl 82
Options :

1. % 3fferepof

2. & Bl

3. % oY

4. % D0

Question Number : 178 Question Id : 97675530615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



<’ BT TN gUTN fhd RS & T1Y il 82
Options :

1. % 3ffdrepuf

2. ¢ Hal

3. % o

4. % DT

Question Number : 179 Question Id : 97675530616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77U <reg 1 AT I BT
forameff

Options :

1. # foemf=
2. « Tt
3. % fagm
4, % fqefa=

Question Number : 179 Question Id : 97675530616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT 7Y Wreq; &1 T I BT
foremeff

Options :

1. % faemdt
2. « faemfdR
3. % fagrrt
4. % Tl

Question Number : 180 Question Id : 97675530617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafoiaa # § &9 91 Wsg Wed 9ga<H T8l 82
Options :

1. % g

2. % YIuT

3. % HHRR

4.« UMl

Question Number : 180 Question Id : 97675530617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafied & & & 1 Wee T¢d 9gda- T8l 82

Options :
1. % G=H
2. % YU
3. % JHRR
4. U

General Hindi2
Group Number : 10
Group Id : 976755891
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Hindi2

Section Id : 9767551321
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551541
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675530618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7TQ aTeRT BT e Fd BT
St Aem A 1

Options :

Question Number : 181 Question Id : 97675530618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 71U aToRT BT el Fd B
farst Aem A 81

Options :

1. ® guf ug

2. % {ldd Y&



3. % g gy
4. ¢ RRID Ugy

Question Number : 182 Question Id : 97675530619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o ) gy 1 iU
CEARACEINEASIGIRT

Options :

1. ® 3@ gia
2. v Ffgrnd gfa

3. % Hparda gia
4. % Fyrad® gia

Question Number : 182 Question Id : 97675530619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T a1 @t gf d P

faeTe faemer ST g

Options :

1. % 3 gfa

2. ¢ At gia

3. % Jharde gha

4. % Jurarde gha

Question Number : 183 Question Id : 97675530620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U T are & Ity fod s & U § Ugad g1 8, I1d diferg|
I 9gd QT | ¢ |

Options :




1. % I9H
2. % YA
3. ¢ 3
4. % TYH

Question Number : 183 Question Id : 97675530620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U gt § i i ey & U H U gef §, T1d i
I Sgd @M @ 2|

Options :

1. % 3dH

2. % HYH

3.9 3

4. % YYyy

Question Number : 184 Question Id : 97675530621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT TN 9100 & UBHR B! UgdH PHIoT|
IS I FIR A 31|

Options :

1. % gad
2. % fiy

3. ¥ IRA

4. % JUdiR]

Question Number : 184 Question Id : 97675530621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT U 9190 & UBHR P! UgdH PHifoT |



CAIfISH a1 HHR | 937
Options :

1. % g

2. % foy

3. ¥ WA

4. ® JUdig

Question Number : 185 Question Id : 97675530622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 o 91 Ygad arad &1 3aeR01 82
Options :

1. ¢ 98 = DI ISl Agara g b= faene Heidt g
2. % FIGd B W T G 8l o1al g

3. % gg I foereg S g

4. % T 3P AT T a1 gt g |

Question Number : 185 Question Id : 97675530622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad & @ 5 I 9gad dTeR BT Iae 0T 27
Options :

1. ¥ 9% = I IS TGN § b faererd Nt 5
2. % gIEd B W T QG &1 STl g |

3. % g feag S g

4. % T 3P AT T F fAre=1 argdt g |

Question Number : 186 Question Id : 97675530623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |




TSl T o
Options :

1. % gl

2. % RR ufdd

3. ¢ SRR Al
4. % §gd do ale

Question Number : 186 Question Id : 97675530623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬂﬁ,mwwﬁWﬁﬁ,wﬁmwﬁdw Hx ol foU U geTak & 31 &) Ty =0 ¥ ad ddl g |
T

Options :

1. % &Il

2. % RRfH

3. ¢ SRR AfHT
4. % §gd ool grel

Question Number : 187 Question Id : 97675530624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad uy ¥, fau M0 aR faswedl & 9, 39 fawed &1 904 B3 Sl f3U 7T gtk & 31 &1 99y U Y odd Bl 5|
SUCIECE]

Options :

1. ® SIDPR BT

2. ¢ TS Bl ATIHSI HRAT

3. % 3P gIa gl

4, % AT B

Question Number : 187 Question Id : 97675530624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁ@au&ﬁ,ﬁwmﬁﬁﬁﬁ,wf&wwmqw Hx ol foU U geTak & 31 &! W9y U ¥ ad dal g |
SHIST T

Options :

1. % SADPR P

2. ¢ 3 BB ATGHS HRAT

3. % SIS U gl

4, % 3GRG BT

Question Number : 188 Question Id : 97675530625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7 weal & g & 1T IfAd wepifar &1 a5 IR
o1 ulvem & Imadn el Hacdt

Options :

1. % ad Bl fo-Th DT GERI

2. % AT TR 3CTE P

3. % S Y Xd AT

4. ¢ {59 Qa1 fa urgal el Ui O

Question Number : 188 Question Id : 97675530625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Trec & g & forg I i 1 = FifvTu
o1 ufvem & Iwmadn el fHedt

Options :

1. % S9d DI fo-To &1 TERI

2. % AT TN 3T B

3. % q1 9 ¥d Rera

4. ¢ TS @er fa urgat e Ut O




Question Number : 189 Question Id : 97675530626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U formH fag & IR &1 ugaH SIfv|

Options :

1. % 3{eUfarm™
2. % fqqvur

3. ¢ JufR™
4. % 3fg foR™

Question Number : 189 Question Id : 97675530626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ foRTH g & IR &1 ugaH S|

Options :

1. % 3fegfaRTd

Question Number : 190 Question Id : 97675530627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fawen &1 997 &3 S fou U geTak & 31 ol Yd9% U § odad Rl g |
T oY BT

Options :

1. % AR G HAT
2. ¢ STSId B
3. % WHI-UHT ST
4. % AT H ST ST




Question Number : 190 Question Id : 97675530627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qﬁgﬁagau%rﬁ,ﬁnmwﬁwq‘fﬁ@,Wﬁwwwﬁeﬁﬁqwa@@%a{ﬁﬁﬁ% ¥ Y ad BT ¢ |
AT

Options :

1. % ORI HAT
2. ¢ 93Id HRAl
3. % WHI-UHT ST
4. % 3T H Sl &

Question Number : 191 Question Id : 97675530628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau 7w IR faweat & ¥, 39 fawen &1 7997 &3 5 fou U geTak & 31 ol Id9% U § odad Rl g |
B! BT BT

Options :

1. ¢ §gd Il gl

2. % PG BT e I T9Y BT
3. % Yo & g HIe!

4. % HH B ATIR o AT

Question Number : 191 Question Id : 97675530628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o1 90 3 o1t fT 7T gerer & 31 &1 Jd9§ U § oJad SRl g |
BIS BT A BT

Options :
1. ¢ §gd Q&I 8T
2. % PISI BT ged A T g




3. % QoA & [y Dre!
4. % HH B ATIR Hd BT

Question Number : 192 Question Id : 97675530629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraft ate H fopft Weg & e oM R Rafead # @ fory ferg o1 o fopan Sia 82
Options :

1. % fIcee

2. % Yol

3. % fgeror

4. ¥ gOUS

Question Number : 192 Question Id : 97675530629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopdt arerr 7 fopeft wree & g oM W Fufafad & ¥ fw g o1 v o ST 82
Options :

1. % Fd=®

2. % Yol

3. # fqaRUr

4. ¥ UG

Question Number : 193 Question Id : 97675530630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawedl & 39 faswen &1 999 &2 Sl fou T geTak & 3 &) 99y © 0 ¥ ad aidl |
EERERER CIARCIEARIY gl

Options :

1. % 3{d<] DI gRHA

2. ¢ Y DI AS




3. % RRAET I 3R
4. % 3199 Hg figf fieg

Question Number : 193 Question Id : 97675530630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad ®iM T 3T TN IR fawet & I fadmen &1 997 & 51 foU U geTak & 31 o) Y49 =0 J oJad Rl g |
faar 3y wre-fyen & ferg gl

Options :

1. #® 3{dd] Pl gRHA

2. ¢ Y DI AS

3. % FeRWT ol 3{ERT

4. % 30 Hg il fieg

Question Number : 194 Question Id : 97675530631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad = # fou U IR fawedl & 39 fawed &1 999 &2 Sl fou T geTak & odf &) a9y * 0 ¥ ad aidl |
ag 1Sl it R afrar 1 & o1d Bl &) dgR T8 § 98 gl

Options :

1. % I RER

2. % it foeedt

3. % S YT

4. ¥ TDHR BT HDHR

Question Number : 194 Question Id : 97675530631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feard R & faU T IR faswed! & 3 fadhed &1 70 & off ST T geTar & 37 & Jd9T U 9§ Fdd Hdl ¢ |
ag 3o Wi R efepar T8 91d S &l IR TR § 78 gl

Options :




1. % 3 R
2. % il foeett
3. % AT YT
4. ¢ PR BT HHR

Question Number : 195 Question Id : 97675530632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 fawed &1 97 3 57 3T T qeTar & 31 &1 Gd98 U I o9ad Hdl & | HR-9R T W 8T
Options :

1. ® U9 gl

2. % Tqd HTH I

3. % YT HH AT

4. ¥ {Fg W@YTE 91a &1 TH 1Y

Question Number : 195 Question Id : 97675530632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fou U IR fawedl & ¥, 39 fadmen &1 997 & 51 foU U GeTak & 31 ol Yd9% U J o7ad HRdT ¢ | HR-oR BT W T
Options :

1. % gH-Gg gl

2. % Tefd HTH g

3. % UG HTH gl

4. ¢ fa4¥g WG a1dl &1 Th 1Y

Sub-Section Number : 2
Sub-Section Id : 9767551542
Question Shuffling Allowed : Yes

Question Id : 97675530633 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)



T T 32T 711 § | TR o 3MTYR WR Ule U4 f3U 70 § | T/ ) eAydeh U¢ aul Udish Uy & TR fadbedl H A gl faebed |
Tfeat gg, o fafed siedm™ iR FPIaR 3w § 9s §U 3, 99 981 U Yax 91 71id oT| U1 H Th Jav 3R Afad=Irell aab g1 Bl Ul
DT 1 YT A AT | SRt 39 98¢ UH R 3| a6 T % 3R AeaiR dfad Ul 9ad guRl &1 Fgdl o fog TR XgdT, 310
TiaTell Bl BT a1 AU T GIYaTRI! 1 4l BT U UH Heicd JHSIT UT| IHP 38 N Bl Ioig I I8 Tfid U7 TH IHHT 3MMaR
PR | Fad-TEd H S WRUT X 3R a8 YRT-HIT 981 Ugd ST | gaR Tial § +f ud-igRi & 90g 39 U faRiy &9 ¥ HfAd fasan
ST | JHPT Al SMBYUD AT B, TTY 5 AT WU D1 Iolg H AT IUb BRId 67 dled A | TRURS UMD o Y I8 U HIR I
g U Ahal &I AR ST I§aT| TN T A YT, FTASIG A el Bl 8 WR, 39 daaR | 3gHd &d1d e off | aet 3o daaR &t st
ST AT B T | BT GIRI o A STANT Ut 1 FHrefT| fob I afeid ATGRID HRAMI o HRUT AT I dAdR H SHGY M Bl
ST O U | I &t AR U fqerefu wew ot

Sub questions

Question Number : 196 Question Id : 97675530634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugd 3fSuH APIaR ot fRufd fbd TR ote
Options :

1. % EAF I APaR R-REU U

2. ¢ 38U d ABIIR Th g A IS 3|

3. % 3SUM d APDIaIR Th g & gRA 3|

4. % 3SAM 9 APIER -3 T U

Question Number : 197 Question Id : 97675530635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It & AR gl ol T HRUT Y12
Options :

1. % 95 e Tl

2. % g QfGamet o1l

3. % 98 9a®! IHUM Ugardr ol

4. T8 7% 3R AR UG HT 4TI

Question Number : 198 Question Id : 97675530636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
NUGEIEISIRESEIRGR
Options :

1. % gg gyt AR T ol

2. % gg URUNS UM Ug—dT UT|

3. ¢ ITd] Afadd fdd 3MHYS AT
4. % 3P U dadr At

Question Number : 199 Question Id : 97675530637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T are &1 @ SHHUT B, T1d HifoT|
dEl &t IR U fademr 8w ot
Options :

1. % 98 I0dR el &1 |

2. ¢ I TAIR H oty T ot

3. % 98 dAaR Y JaH| AR bl Y|

4. % g AR DI B 3{eT 81 BT Ul

Question Number : 200 Question Id : 97675530638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUgad TR &1 Kifes J1d Piforg |
Options :

1. % faefarmr defar

2. % ¢ AR

3. ¢ TET IR IADT 3gYd TAdR

4. % 33AM d ADHER ¢l g

Question Id : 97675530633 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)



U T fT AT § | TR o SR U Uie U U MY § | TR ) ATk U T Uedh UM & UR fachedl § 4 we fabeu g
afeal qd, ore ferfet sisum ok FplaR oy A g gu a, 9 J81 U Yo T 771q | wﬁww@?m g T8 Hdl Tl
YT AT U7 dHEt ATl FPIaR) 38 983 U o3d & | 1 U 7 3R HEGTR AfGd UT| Fed GER) P JgTdl & folt daR g, 30
TTfeaTall 1 & et AU T STIaTRil 1§ AT U1 IRH Feiod FHIAT UT| TP T TN 1 Iorg § I8 Treidl 41| Tt I 3f1ex
| - ﬁﬂmﬁ?ﬁww&ﬁ?a‘s’www SEERSIGH gﬂ{ﬂ@ﬁlﬁqﬁmﬁwaﬁwﬁ@ﬂwﬁmﬁﬁm
ST | ST Ao HTHYD UT 81, 1Y B AT UG DI golg F AT 3P HRI§ I8 dgd J | TRURSD UIRITeh & 1Y 8 U1 HAR o
Hdemob&ﬁdmdNaT?hsdll?ﬂ?ﬂﬁnﬁw SIS TG P W, B@[Wﬁ&l‘c{ﬂﬁ%‘qﬂﬁmﬁiﬂl Al 3O TAaR B Bt
ST AT B T | SUBT GIR! o A SUANT Ut 1 FHrefT| fobg I afeid AP HRAHI o HRUT AT I dAdR H SHGYd Mo Bl
B A | AT D1 TR T facieun ey o |

Sub questions

Question Number : 196 Question Id : 97675530634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugdl 3ISHM HaiaR & fRUM foog TR o
Options :

1. % eI PHEIR R-R ¢T3

2. ¢ 3SUM d ABIaIR T g I I 3|

3. % 3{SHM 9 PR T A & gTe |
4. % 3{SHM d MR cT-3eT Y|

Question Number : 197 Question Id : 97675530635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dEl B AT BT T HIRUT YT
Options :

1. % g e Tl

2. % gg iR T

3. % 98 9a®! IHAM Ugardr ol

4. T8 7% 3R AR WGHTG BT 4TI

Question Number : 198 Question Id : 97675530636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
NUKGIEIEIRINE IR R
Options :

1. % gg gyt AR H-1a ol

2. % gg URUNSG UM Ug-dT UT|

3. ¥ ITd] Al A HYD UT|
4. % 3P U dadr At

Question Number : 199 Question Id : 97675530637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ TTQ a1 1 T SHfHUT B, T B
drE @ dAaR T fademr 38 |

Options :

|. % 98 dAdR A el ot Ui |

2. ¢ I TAIR H oty e ot

3. % 9g dddR ¥ JaPH! AR Jhdl UT|

4. % 98 TR &I HHT 3T Tal BT T

Question Number : 200 Question Id : 97675530638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U TR &1 =i 1 i
Options :

GG CIN

2. % T IR

3. ¢ AET 3R IGDT 3gYd TAdR

4. % 3{SHM 9 MR gu 9g




